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Orebridgens Guld 2014-12-28

Partavling, 24 bord, 48 par. Antal brickor: 66. Medel: 1518.0.

Plac Par Poéng % Namn MID Klubb
1 14 18819 61.99 Ulf Nohrén - Jenny Evelius-Nohrén 2798 2812 Uppsalabridgen
2 29 1829.9 60.27 Daniel Gullberg - Mikael Gronkvist 37167 85230 BK S:tErik
3 21 1774.1 58.44 Par Unander - Torbjorn Sandbéack 12980 70 Malungs BK
4 32 1758.0 57.91 Mikael Rimstedt - Christer Bjaring 88184 3545 Harplinge BK - BK S:t Erik
5 26 17154 56.50 Lars Ramquist - PG Eliasson 80480 2827 Nasby BS
6 2 1697.7 55.92 Johan Gronkuvist - Krister Ahlesved 8342 13995 Orebridgen - Uppsalabridgen
7 39 1687.7 55.59 Hans Kvick - Christer Eriksson 2878 9292 Uppsalabridgen
8 7 1662.3 54.75 Andreas Westman - Bo-Henry Ek 23603 2381 Orebridgen
9 22 16514 54.39 Urban Bjorklund - Hans-Ove Sandin 9496 9981 Gavle BK - Sundsvallsbridgen
10 41 1649.7 54.34 Chatarina Andersson - Thomas Magnusson 7583 3693 Carlsborgs BK - BK ALERT
11 18 1639.0 53.99 Magnus Hultman - Johan Karlsson 14044 32229 Lindesbergs BS - Overums BK
12 42 1628.9 53.65 Lars Marjoniemi - Thomas Cedervall 14508 81067 Hallstahammars BK - Fagersta BS
13 24 1619.6 53.35 Eric Arvidsson - Sonny Arvidsson 16417 1349 LudvikaBygdens BK - Borlange BK
14 30 1613.6 53.15 Kenneth Borin - Jessica Larsson 2076 17400 BK S:tErik - Filbyter Bridge
15 46 1600.0 52.70 Ann-Sophie Andersson - Patric Holmberg 39116 17031 Rimbo BK - BK S:t Erik
16 17 1588.5 52.32 Per-Ola Cullin - Peter Bertheau 21204 16757 Uppsalabridgen
17 13 1583.0 52.14 Johan Gdéransson - Robert Frank 6915 25150 Varnamo BK - BK Opalen
18 19 1565.3 51.56 Kenneth Karlsson - Romuald Grudzinski 625 46038 Malungs BK
19 28 1559.6 51.37 Per Larsson - Soren Lennartsson 10701 9338 Falkdpings BS
20 25 1558.7 51.34 Linnea Edlund - Tobias Bende 34773 27672 Uppsalabridgen - Salamandern/Wasa
21 37 1543.0 50.82 Jimmy Herrdin - Lennart Johansson 81411 20178 Askers. BK Singelton
22 4 1542.0 50.79 Maria Gronkvist - Catharina Ahlesved 1076 7124  Orebridgen
23 33 1530.5 50.41 Gudrun Strandberg - Tore Stormo 4143 78250 ArlaBK
24 6 1526.0 50.26 Bo Ericson - Lars Ericson 2962 12536 Gavle BK
25 9 15153 4991 Par Andersson - Tommy Petersson 12130 12924 Smedstadens BK
26 36 1511.1 49.77 Bjorn Forsberg - Krister Berg 8319 9747 Orebridgen
27 27 1508.7 49.69 Gullvi Hogberg - Bo Roos 1884 13691 Falkopings BS - Skara BS
28 1 1505.3 49.58 Anna Zack Efraimsson - Bengt-Erik Efraimsson 4049 127 BK S:tErk
29 40 1491.3 49.12 KentKarlsson - Conny Svensson 4155 7638  Askers. BK Singelton
30 31 1489.7 49.07 Tommi Ramstedt - Kjell Karlsson 51783 4136 Lindesbergs BS - Jarnvagens BK
31 16 1460.0 48.09 Gunnar Géthberg - Adam Winberg 14641 2950 Orebridgen
32 35 1438.3 47.37 Rolf Selander - Thomas Brehmer 7824 4133 Orebridgen
33 38 1432.0 47.17 Thomas Bouvin - Leif Ernstsson 24557 13674 Lindesbergs BS
34 23 1426.3 46.98 Bertil Strand - Kjell Persson 3919 7743 BK Ruter
35 44 1421.0 46.81 Micael Svensson - Michael Runfors 2383 10344 Orebridgen
36 48 1409.3 46.42 Peter Forsberg - Erik Spangberg 51490 140 ABB BK - Orebridgen
37 11 1397.3 46.02 Lars Lundgren - Magnus Persson 10275 87044 Arboga BK
38 47 1385.1 45.62 Dejana Sverker - Karl-Gustaf Larsson 50940 12299 Orebridgen - Nora BK
39 43 1383.7 45.58 Lars Lundqvist - Lena Lundqvist 6692 25982 Valdemarsviks BK
40 34 1378.0 45.39 Jan Lindgren - Séren Klingneus 90754 38099 Orebridgen
41 8 1347.1 44.37 Gun Rohnisch - Ann-Christin Ahlstrom 10595 31274 Orebridgen
42 5 13449 4430 Daniel Eriksson - Malin Helin 24659 30933 Gavle BK
43 20 1314.4 43.29 Bo Forslund - Erik Jirovsky 8014 2321 Arboga BK
44 45 1308.1 43.09 Lars Lilja - Karola Hogberg 4118 17222 Lindesbergs BS
45 3 13059 43.01 Matilda Wik - Mattias Norling 34774 91319 Norrkdpingsbridgen
46 10 1265.7 41.69 Therése Andersson - Marie Gothberg 35554 19806 Orebridgen
47 12 1219.0 40.15 Annika Forsberg - Rose-Marie Crossner 25019 14138 Orebridgen
48 15 1200.7 39.55 Claus Roéhnisch - Kjell Eriksson 4081 35707 Orebridgen
1 4« DKn107652 2 « D7 3 483
Nord v Kn86 Ost v EKn5 Syd v 943
Ingen ¢ 106 NS ¢ Kn532 ov + Kn109764
23 K763 #E5
4 E4 483 4 Kn9 & EK53 4 D52 4 EKn74
vED10  vK7432 v87643 vD92 vEKn86 vKD7
¢ EK2 + D753 ¢+ ED1076 ¢ 984 ¢D +85
#E10654 #D8 *2 #1095 2108763 #Kn942
4 K9 108642  K1096
v 95 v K10 v 1052
+ Kn984 +K ¢ EK32
#KKn972 #EDKn84 «KD
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 1 6v0-2 oK 100 450 10|31 18 54 N= oK 600 440 20|15 36 INS+2 *6 150 410 5.0
30 19 6v O-2 oK 100 450 10(40 9 3NN= s A 600 440 20|24 27 INS+2 3 150 410 50
12 37 6v O-1 oK 50 400 6.0(41 8 3NN= +9 600 440 20|28 23 INS+2 43 150 410 5.0
21 28 5v0-1 oK 50 400 6.0 6 43 3&S+2 v8 150 39.0 7.0(42 9 INS+2 43 150 410 5.0
42 48 6v O-1 oK 50 40.0 6.0(39 10 2NN +1 +9 150 39.0 70(45 6 INS+2 3 150 410 50
14 35 3¢ O+1 &K -130 36.0 10.0|36 13 24 S+1 *2 140 36.0 10.0(48 44 INS+2 43 150 410 50
27 22 4v O = oK -420 320 140| 7 1 44S= v8 130 33.0 13.0(22 29 2NN= *A 120 31.0 15.0
32 17 4v O= oK -420 32.0 14.0|47 2 44 N= +4 130 33.0 13.0(37 14 INS+1 *7 120 31.0 150
36 13 4v V= 4Q -420 32.0 14.0|45 4 2NN= ¢4 120 30.0 16.0(40 11 INS+1 v5 120 31.0 150
11 38 3NV +1 4Q -430 26.0 20.0|14 35 24 S= v8 110 28.0 18.0|46 5 INN+1 3 120 31.0 15.0
16 33 3NV +1 4Q -430 26.0 20.0|23 26 3¢4DV-1 4Q 100 250 21.0| 1 3 3¢ N= +5 110 16.0 30.0
44 5 3NV +1 4Q -430 26.0 20.0|32 17 3¢4DV-1 &6 100 250 21.0| 7 2 3¢ N= +8 110 16.0 30.0
24 25 4v V +1 3 -450 16.0 30.0|11 38 3NN-1 v2 -100 15.0 31.0|13 38 3¢ N= *4 110 16.0 30.0
34 15 4v O+1 &K -450 16.0 30.0|20 29 44 S-1 *2 -100 15.0 31.0|17 34 3¢ S= 3 110 16.0 30.0
39 10 4v O+1 #K -450 16.0 30.0|24 25 5& N-1 v2 -100 15.0 31.0|21 30 3¢ N= *4 110 16.0 30.0
41 8 5v 0= oK -450 16.0 30.0|27 22 54 S-1 ¢ A -100 15.0 31.0|25 26 3¢ N= *4 110 16.0 30.0
45 4 4v O+1 K -450 16.0 30.0|30 19 44 S-1 v7 -100 15.0 31.0|31 20 3¢ N= *2 110 16.0 30.0
46 3 4v O+1 K -450 16.0 30.0|34 15 44 S-1 *7 -100 15.0 31.0|32 19 3¢ N= vK 110 16.0 30.0
47 2 49 O+1 99 -450 16.0 30.0|42 48 3NN-1 +4 -100 15.0 31.0|35 16 3¢ N= *4 110 16.0 30.0
23 26 3NV +2 4Q -460 8.0 38.0{44 5 3NN-1 43 -100 15.0 31.0|41 10 3¢ S= 3 110 16.0 30.0
31 18 3NV +3 v6 -490 6.0 40.0|12 37 44 S-2 *2 -200 40 420|147 4 3¢ N= *4 110 16.0 30.0
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20 29 44DN-3 #Q -500 3.0 43.0[21 28 44 S-2 *A -200 4.0 42012 39 4¢ N-1 vK -50
40 9 34DN-3 vA -500 30 43.0|46 3 34S-2 *2 -200 4.0 42043 8 3¢ N-1 +8 -50
6 43 44DN-4 v6 -800 0.0 46.0|16 33 44 S-4 *2 -400 0.0 46.0|33 18 5¢ S-2 a2 -100
4 D98 48 6 & Kn953
Vast vE3 v10 Ost v EKKn62
Alla ¢+ Kn76 ¢ Kn7532 ov +8
#ED963 #1087432 «KD10
4 Kn107 4E54 4KD754 &Kn9 4ED104 462
v 1096 v D42 vEDKn75 vK92 vD8 v 9754
+92 + KD105 + D86 ¢ E1094 ¢D106 ¢ K93
#Kn10852 #K74 *- #EDKn5 #9762  #EKn85
K632 «E10632 » K87
v KKn875 v 8643 v 103
¢ E843 +K ¢ EKn7542
»- *K96 #43
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
17 34 1¢DO-3 v¥5 800 450 10| 7 3 5vDV-1 8 100 450 1.0(29 24 INS+3 oT 180 46.0 0.0
41 10 24DV -3 6 800 450 10|34 19 7v V-2 +5 100 450 10(26 27 2v N+2 46 170 440 20
35 16 3NN+1 +K 630 41.0 50]13 40 6v O-1 aA 50 340 120 1 5 2v N+1 46 140 38.0 8.0
46 5 3NN+1 +K 630 410 50|14 39 6v0O-1 s A 50 340 12041 12 2v N+1 46 140 38.0 8.0
13 38 4v S= L) 620 380 80|22 31 4v0-1 *2 50 340 12.0|42 11 29y N+1 46 140 38.0 8.0
1 3 3NN= a5 600 31.0 15025 28 6v V-1 8 50 340 12.0(43 10 14 N+2  ¢5 140 38.0 8.0
21 30 3NN= 43 600 31.0 150|36 17 6v O-1 s A 50 340 120(44 9 2v N+1 46 140 38.0 8.0
32 19 3NN= +K 600 31.0 15041 12 6v V-1 8 50 340 12.0(23 30 2v N= +9 110 31.0 150
40 11 3NN= ¢+ K 600 31.0 150(42 11 6v O-1 aA 50 340 120|136 17 2v N= 46 110 31.0 15.0
42 9 3NN= ¢+ K 600 31.0 15.0|43 10 6v O-1 s A 50 340 120| 7 3 2¢ S= *6 90 23.0 23.0
48 44 3NN-= +K 600 310 15047 6 4v V-1 2 50 340 12014 39 INS= a4 90 23.0 23.0
28 23 3v S+2 L) 200 24,0 22.0| 8 45 4v V= 8 -420 21.0 25025 28 INS= *6 90 23.0 23.0
15 36 24 N+2 ¢K 170 21.0 25.0|18 35 4v V= 3 -420 21.0 25.0|33 20 2¢ S= vQ 90 23.0 23.0
33 18 2v S+2 L) 170 21.0 25.0|29 24 4y V= 8 -420 21.0 25.0|38 15 INS= a4 90 23.0 23.0
22 29 2v S+1 &2 140 13.0 33.0|32 21 4v V= 8 -420 21.0 25.0|46 48 INS= T 90 23.0 23.0
31 20 3v S= ¢9 140 13.0 33.0| 1 5 3NO+1 a2 -430 16.0 30.0| 2 4 2¢ N-1 46 -50 110 35.0
37 14 2v S+1 2 140 13.0 33.0|23 30 3NO+2 &2 -460 12.0 34.0| 8 45 2NS-1 a4 -50 11.0 350
43 8 2v S+l L) 140 13.0 33.0|33 20 3NV +2 8 -460 12.0 34.0|16 37 INS-1 a4 -50 110 35.0
45 6 2v S+1 L) 140 13.0 33.0|38 15 3NO+2 +K -460 12.0 34.0|18 35 INS-1 3 -50 110 350
47 4 2v S+1 L) 140 13.0 33.0| 2 4 4vO+2 v4 -480 8.0 38.0|22 31 3¢ S-1 LN -50 110 350
7 2 2¢ N+l  4A 110 40 420|144 9 3NV +3 2 -490 50 41.0(32 21 2¢ S-1 *2 -50 11.0 35.0
24 27 2v S= +9 110 4.0 42.0|46 48 3NO+3 42 -490 50 41047 6 3¢ S-2 *6 -100 4.0 420
25 26 2v S= +9 110 40 42.0|16 37 2¢DS-6 +Q -1700 10 450(13 40 44 N-3 *A -150 1.0 450
12 39 44 S-1 +9 -100 0.0 46.0(26 27 24DS-6 +¢6 -1700 10 45034 19 3¢ S-3 *7 -150 1.0 450
7 D752 # EKKn42 9 & D52
Syd v- vKn975 Nord vKD76
Alla ¢ D52 +5 ov *2
#EKn8653 #EKKn #K10742
«+Knl08 4K43 4D1085 463 4« KKn1094 «EG3
vKD9 v EKn7542 v43 vED82 v Kn952 vE8
¢ EKn106 ¢ 9874 ¢Kn73 ¢ D864 ¢ 764 ¢ ED1095
#K92 *- #D852 4763 *6 «D93
«E96 97 « 87
v 10863 v K106 v 1043
¢+ K3 ¢ EK1092 ¢ KKn83
«D1074 #1094 #EKn85
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
42 13 5v O-3 *4 300 46.0 00| 1 48 3NS+2 +3 460 380 80| 7 5 44DV-1 2 200 46.0 0.0
33 22 4v0O-2 &7 200 440 20| 3 5 3NS+2 v4 460 380 80(18 39 3¢ O-1 v3 100 41.0 50
148 4v0-1 &7 100 41.0 50| 7 4 3NS+2 *6 460 380 80|24 33 34 V-1 *2 100 41.0 5.0
14 41 4v0O-1 *4 100 410 50| 9 46 3NN+2  #3 460 380 80|36 21 34V-1 *2 100 410 50
3 5 5&#N-1 vK -100 37.0 9.0|17 38 3NS+2 &5 460 38.0 80|46 11 44 V-1 *2 100 410 50
43 12 5 N-1 +9 -100 37.0 9.0|24 31 3NS+2 25 460 380 80|10 47 3« N-1 vA -50 350 11.0
35 20 3vO= *6 -140 33.0 13.0|26 29 3NN+2 %6 460 380 80|34 23 34N-1 & A -50 350 11.0
44 11 3v O= &7 -140 33.0 13.0|35 20 3NN+2 44 460 380 80| 1 9 44DN-1 +A -100 32.0 14.0
9 46 5#DN-1 YA -200 29.0 17.0|43 12 3NN+2 v8 460 380 80| 3 48 24 O= v3 -110 25.0 21.0
23 32 2v O+3 #4 -200 29.0 17.0|45 10 4y N+1 46 450 28.0 180| 4 6 24 O= v3 -110 25.0 21.0
24 31 4v V= *A -620 24.0 220| 2 6 3NS+1 8 430 22.0 24.0|16 41 24 V= 2 -110 25.0 21.0
39 16 4v V= *A -620 24.0 22.0|33 22 3NS+1 25 430 22.0 24.0|27 30 24 O= v3 -110 25.0 21.0
45 10 4v V= *2 -620 24.0 22.0|37 18 3NN+1 v2 430 22.0 24.0|40 17 24 O= ¢2 -110 25.0 21.0
2 6 4v0+1 v3 -650 10.0 36.0|39 16 3NS+1 v4 430 22.0 24.0|144 13 3¢ O= 8 -110 25.0 21.0
7 4 4v O+1 46 -650 10.0 36.0|44 11 3NS+1 v6 430 22.0 24.0|31 26 2NO= 48 -120 18.0 28.0
15 40 4v V+1 2 -650 10.0 36.0|15 40 44 N= +6 420 12.0 340| 2 8 24 V+1 *2 -140 8.0 38.0
17 38 4v V+1 5 -650 10.0 36.0|19 36 4y N= +6 420 12.0 34.0|15 42 34 V= 2 -140 8.0 38.0
19 36 4v V+1 a2 -650 10.0 36.0|27 28 44 S= +6 420 12.0 34.0|20 37 24 O+1 46 -140 8.0 38.0
26 29 4v V+1 a5 -650 10.0 36.0|30 25 4v S= &5 420 12.0 34.0|25 32 24 O+1 8 -140 8.0 38.0
27 28 4v V +1 5 -650 10.0 36.0|34 21 4y N= 3 420 12.0 34.0|28 29 24 O+1 48 -140 8.0 38.0
30 25 4v V+1 5 -650 10.0 36.0|14 41 3NS= v4 400 50 41.0|35 22 24 V+1 2 -140 8.0 38.0
34 21 4v O+1 K -650 10.0 36.0|23 32 3NS= *6 400 50 41.0(38 19 34 V= &2 -140 8.0 38.0
37 18 5v O = v2 -650 10.0 36.0|42 13 2y N+2 &3 170 2.0 44.0(43 14 24 O+1 48 -140 8.0 38.0
47 8 4v O+1 &7 -650 10.0 36.0|47 8 2y N+1 +6 140 0.0 46.0(45 12 24 O+1 &7 -140 8.0 38.0
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10 a4 11 83 12 #8642
Ost v KD6543 Syd vD4 Vast v E642
Alla ¢ Kn2 Ingen + K1054 NS +85
#KD108 #EDKn85 #D52
4« D9853 4 Knl0 4 Kn7642 #E109 « ED7 495
vKn72 vE10 vE109 v Kn83 v 9875 v K103
¢ 965 + KD1043 ¢ DKn2 ¢ E87 ¢ KKn103 ¢ D976
*74 #EKNn93 #K3 #10642 *97 #KKn108
» EK762 « KD5 « KKn103
v 98 v K7652 vDKn
¢ E87 4963 ¢ E42
#652 *97 #E643
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 42 34DO-1 v6 200 440 20(29 30 24DN= ¢3 180 46.0 0.0[44 15 1a S+1 *9 110 46.0 0.0
20 37 3¢ O-2 aA 200 440 20| 2 10 INS+1 +Q 120 440 20| 2 10 INS= v9 90 43.0 3.0
35 22 24DV-1 &K 200 440 20| 5 48 34 V-2 3 100 36.0 10.0(39 20 INS= v5 90 43.0 3.0
1 9 2¢vyN= ¢+ K 110 35.0 11.0(17 42 34 V-2 48 100 36.0 10011 1 INV= v2 -90 400 6.0
2 8 3&N= ¢+5 110 35.0 11.0(26 33 34 V-2 vQ 100 36.0 100 3 9 INS-1 v7 -100 28.0 18.0
4 6 2y N= ¢+ K 110 35.0 11.0(28 31 3a V-2 vQ 100 36.0 100 4 8 INS-1 v5 -100 28.0 18.0
7 5 29y N= ¢+ K 110 35.0 11.0(39 20 3a V-2 a3 100 36.0 10.0| 5 48 INS-1 *T -100 28.0 18.0
31 26 2v N= ¢+ K 110 35.0 11.0(44 15 24 V-2 vQ 100 36.0 10.0|17 42 24 S-1 »3 -100 28.0 18.0
45 12 2v N= ¢+ K 110 35.0 11.0|45 14 34 V-2 vQ 100 36.0 10.0(19 40 24 S-1 v9 -100 28.0 18.0
24 33 24 V-1 vK 100 240 22.0(19 40 2¢ N= ¢7 90 26.0 20.0(21 38 24 N-1 *Q -100 28.0 18.0
27 30 24 O-1 v9 100 240 22.0(36 23 INN= 49 90 26.0 20.0(32 27 INS-1 v9 -100 28.0 18.0
36 21 3¢ O-1 s A 100 240 22.0(37 22 2&# N= vJ] 90 26.0 20.0(36 23 INS-1 v9 -100 28.0 18.0
40 17 24 O-1 vK 100 240 220 4 8 24 V-1 vQ 50 20.0 26.0 (41 18 24 S-1 *9 -100 28.0 18.0
44 13 24 O-1 v9 100 240 22.0(46 13 24 V-1 43 50 20.0 26.0(45 14 24 S-1 &7 -100 28.0 18.0
10 47 3v N-1 +K -100 12.0 34.0(47 12 24 V-1 vQ 50 20.0 26.0(46 13 INS-1 v5 -100 28.0 18.0
18 39 3v N-1 46 -100 12.0 34.0|21 38 Pass 16.0 30.0(35 24 INO+2 vQ -150 16.0 30.0
25 32 3v N-1 ¢+ K -100 12.0 34.0|41 18 3 N-1 4 A -50 14.0 32.0(16 43 INS-2 v9 -200  10.0 36.0
28 29 3v S-1 *6 -100 120 34.0(11 1 3vS-2 a2 -100 11.0 35.0(25 34 INS-2 +3 -200  10.0 36.0
34 23 4v N-1 ¢+ K -100 12.0 34.0|35 24 24 N-2 v3 -100 11.0 35.0(28 31 INS-2 v5 -200  10.0 36.0
43 14 3v N-1 &) -100 12.0 34.0| 3 9 24 V= vQ -110 40 42029 30 INS-2 v9 -200  10.0 36.0
46 11 3v N-1 aJ -100 120 340( 7 6 24 V= 43 -110 40 42037 22 INS-2 +3 -200  10.0 36.0
16 41 24 V= v8 -110 40 42016 43 24 V= A -110 40 42047 12 INS-3 *T -300 4.0 42.0
3 48 4y N-2 ¢+ K -200 1.0 450(25 34 24 V= vQ -110 40 42026 33 2¢DO+2 2 -380 2.0 440
38 19 4v N-2 ¢+ K -200 1.0 45032 27 24 V= 43 -110 40 420| 7 6 34DN-2 3 -500 0.0 46.0
13 # Kn1053 14 « K974 15 a4
Nord v3 Ost v 963 Syd v KD3
Alla ¢ 852 Ingen 4875 NS + K986
#EKD75 #KD10 #Kn10853
«ED862 4K4 & ED5 410863 « KKn9 4 D632
v K64 vKn872 vKn107 vES85 vKn9875 v10
¢ 1063 ¢ EKD7 +Kn642 ¢ KD10 ¢ ED5S +43
#83 +Kn94 #965 #EKn4 &E4 #KD9762
497 & Kn2 « E10875
v ED1095 vKD42 vE642
¢ Kn94 ¢ E93 ¢ Kn1072
#1062 #8732 &-
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
46 15 44 V-2 A 200 46.0 00(30 31 INO= »3 -90 460 00| 1 15 64DO-4 vA 800 46.0 0.0
1 13 34 V-1 L JO) 100 400 6.0| 4 10 INO+1 &3 -120 36.0 100 6 10 2¢DS+3 49 780 440 20
5 9 3aV-1 A 100 400 60| 5 9 INO+1 v3 -120 36.0 10.0|48 9 2vDS= #A 670 420 4.0
27 34 29 O-1 »2 100 40.0 6.0|17 44 INO+1 »8 -120 36.0 10.0(13 3 54DO-3 +¢J 500 40.0 6.0
42 19 44 V-1 v3 100 40.0 6.0|18 43 INO+1 v3 -120 36.0 10.0(43 20 44D O-2 &A 300 38.0 8.0
7 48 34 V-1 A 100 40.0 6.0(22 39 INV+1 v2 -120 36.0 10.0(34 29 3NV-3 LN 150 36.0 10.0
26 35 34 N-1 ¢+ K -100 34.0 12.0|26 35 INO+1 »3 -120 36.0 10.0|19 44 2v S= A 110 34.0 12.0
36 25 2¢ O+1 &2 -110 32.0 14.0(27 34 INV+1 &K -120 36.0 100 5 11 34D O-1 +¢J 100 30.0 16.0
17 44 2NO = v9 -120 29.0 17.0|45 16 INO +1 v2 -120 36.0 10.0(21 42 3NV-2 +8 100 30.0 16.0
45 16 2N O = v9 -120 29.0 17.0|46 15 INO +1 »3 -120 36.0 10.0|39 24 34D O-1 ©vA 100 30.0 16.0
4 10 24 O+1 +4 -140 23.0 23.0(38 23 24 O+1 48 -140 26.0 200( 4 12 3#0-1 *J 50 21.0 25.0
30 31 34 V= A -140 23.0 23.0| 1 13 INO+2 v4 -150 14.0 320 7 8 3NV-1 *3 50 21.0 25.0
33 28 24 V+1 A -140 23.0 23.0| 3 11 INO+2 v2 -150 14.0 32.0(18 45 34 O-1 ¢J 50 21.0 25.0
47 14 24 O+1 49 -140 23.0 230 6 8 2NV +1 &K -150 14.0 32.0(23 40 2NV -1 &J 50 21.0 25.0
12 2 2NO +1 v5 -150 17.0 29.0|12 2 INO+2 vK -150 14.0 32.0(27 36 2NV-1 *3 50 21.0 25.0
20 41 2NO+1 v5 -150 17.0 29.0|29 32 INO +2 v2 -150 14.0 32.0|38 25 2NO-1 LN 50 21.0 25.0
311 2¢vS-2 +3 -200 12.0 34.0(33 28 INO+2 vK -150 14.0 32.0(30 33 INV= &J -90 14.0 32.0
18 43 3#DS-1 3 -200 12.0 34.0(36 25 1INV +2 a7 -150 14.0 320| 2 14 3¢ N-1 vT -100 11.0 35.0
40 21 14 N-2 ¢ A -200 12.0 34.0|37 24 INO+2 v2 -150 14.0 32.0|28 35 3v S-1 &A -100 11.0 35.0
6 8 3&4N-3 ¢A -300 7.0 39.0/40 21 INO+2 v6 -150 14.0 32.0|37 26 3« 0= a4 -110 7.0 39.0
38 23 34 N-3 ¢ A -300 7.0 39.0|42 19 INV+2 a4 -150 14.0 32.0(41 22 24 O= *7 -110 7.0 39.0
22 39 3#N-4 »8 -400 40 42047 14 INO +2 aJ -150 14.0 32.0(47 16 1INV +2 LN -150 4.0 42.0
37 24 24DV +1 &A -870 20 440| 7 48 INDV= &K -180 20 44.0|31 32 3NV= &J -400 1.0 45.0
29 32 2¢DS-5 48 -1400 0.0 46.0|20 41 2NDS-3 +¢5 -500 0.0 46.0|46 17 3NV = LN -400 1.0 450
16 « D87 17 109 18 4 K3
Vast vD107 Nord vD10964 Ost vKn873
()Y 4 986 Ingen ¢+ EKD108 NS +5
#D963 &D #KD10732
465 & K932 4 E73 & 542 & E42 41096
v E86 v K93 vE75 vK3 v 62 v EKD109
¢+ K5 ¢ DKn7 + Kn9 4632 4109843 ¢ EDKn6
#KKn8742 #E105 #Kn10753 #EK864 »E86 &Kn
« EKNn104 « KDKn86 « DKn875
v Kn542 v Kn82 v54
¢ E10432 ¢ 754 ¢ K72
»- £92 #954
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
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18 3NO -2 ¢3 200 43.0 3.0 54D 0O -2 K 300 45.0 10|42 23 V-4 oK 200 46.0 0.0
21 3NO-2 *3 200 43.0 3.0 54D 0O -2 K 300 45.0 1.0|47 18 V-2 *K 100 440 20
27 3NV -2 v7 200 43.0 3.0 29y N+1  #A 140 28.0 18.0|14 4 0-1 «Q 50 38.0 8.0
30 3NO -2 *2 200 43.0 3.0 3v N= &K 140 28.0 18.0|24 41 0-1 «Q 50 38.0 8.0
1 3NO-1 T 100 31.0 15.0 3y N= *A 140 28.0 18.0|28 37 O0-1 a5 50 38.0 8.0
2 3NO-1 +2 100 31.0 15.0 29y N+1  #A 140 28.0 18.0|44 21 V-1 &K 50 38.0 8.0
4 3NO-1 *2 100 31.0 15.0 29y N+1 @A 140 28.0 18.0|48 11 O-1 9 50 38.0 8.0
19 3NO-1 v2 100 31.0 15.0 3y N= *A 140 28.0 18.0| 6 12 O+1 24 -130 31.0 15.0
28 3NO-1 2 100 31.0 15.0 3y N= *2 140 28.0 18.0|32 33 O+l «Q -130 31.0 15.0
39 3NO-1 +3 100 31.0 15.0 3v N= *A 140 28.0 18.0| 3 15 0= +Q -140 27.0 19.0
46 3NO-1 *2 100 31.0 15.0 2y N+1  #A 140 28.0 18.0|29 36 O+l 4Q -140 27.0 19.0
48 3NO-1 +4 100 31.0 15.0 29y N+1  #A 140 28.0 18.0|31 34 O0+2 #4 -150 24.0 22.0
6 38 V= +6 -110 22.0 24.0 2y N+1  #A 140 28.0 18.0| 1 17 O0+2 24 -170  21.0 25.0
38 32 0+1  +A -130 20.0 26.0 2y N+1  #A 140 28.0 18.0|22 43 O+3 &2 -170  21.0 25.0
5 3NV = *9 -600 13.0 33.0 2v S+1 &8 140 28.0 18.0| 2 16 o= «Q -400 14.0 32.0
13 3NO = *2 -600 13.0 33.0 3v N= *A 140 28.0 180 7 9 V= &K -400 14.0 32.0
23 3NO = ¢2 -600 13.0 33.0 29 N+1  #A 140 28.0 18.0| 8 10 0= *K -400 14.0 32.0
31 3NO = a4 -600 13.0 33.0 44D O -1 oK 100 12.0 34.0|35 30 V= &K -400 14.0 32.0
41 3NO = *2 -600 13.0 33.0 4 O -1 oK 50 9.0 37.0|39 26 0= a5 -400 14.0 32.0
47 3NO = *2 -600 13.0 33.0 4% V-1 &K 50 9.0 37.0| 5 13 0= *6 -420 6.0 40.0
43 SNO+1  ¢2 -630 6.0 40.0 4v N-1 *A 50 4.0 42.0(38 27 O+1 #4 -420 6.0 40.0
7 3#aDO= v4 -670 4.0 420 4v N-1 *A -50 4.0 42.0|40 25 0= «Q -420 6.0 40.0
37 2NDN-4 %6 -800 2.0 44.0 4v N-1 *A -50 4.0 42.0|20 45 V+1 *K -430 2.0 44.0
34 SNDO+1 3 -950 0.0 46.0 4vDN-1 #A -100 0.0 46.0|19 46 DN-2 vA -500 0.0 46.0
19 «E1075 & K95 21 442
Syd v 108 vKn876 Nord vE87
oV ¢ DKn82 ¢ Kn432 NS + D10
#Kn73 «D6 #987653
4 Kn3 4 K9862 4« Kn6 aE2 « EKn8763 «D10
vD9543 v KKn2 vEKD9  v10543 v K32 v Kn106
¢ E10943 +¢5 ¢+ E8 + K965 ¢ 865 ¢ KKn9743
&2 #EK108 #K10842 #Kn75 «D *42
«D4 «D108743 K95
vE76 v2 v D954
¢ K76 ¢ D107 ¢E2
#D9654 #E93 #EKKn10
Par Kontr Ut Res Poang Kontr ut Res Poang Par Kontr ut Res Poang
33 4v V-2 *Q 200 450 1.0 3NV -3 v7 300 46.0 00| 2 20 3NS= 43 600 43.0 3.0
41 4v V-2 ¢+ Q 200 450 10 4y V -2 5 200 380 80| 7 11 3NS= +5 600 43.0 3.0
3 4v V-1 v8 100 40.0 6.0 4y V -2 *3 200 380 80|31 38 = 8 600 43.0 3.0
8 3vy V-1 3 100 40.0 6.0 4v V-2 *2 200 380 80|33 36 3NS= a7 600 43.0 3.0
9 4v V-1 vT 100 40.0 6.0 4y V -2 5 200 38.0 80|24 45 2NS= a7 120 37.0 90
7 INS-1 v3 -50 36.0 10.0 4v V-2 *3 200 380 80|46 23 2NS= ¢5 120 37.0 9.0
29 INV= *Q -90 340 12.0 4v V-2 oK 200 38.0 8.0|40 29 2¢ O-1 *A 50 34.0 12.0
2 INN-2 *A -100 29.0 17.0 4v V -2 +3 200 380 80| 4 18 3NS-1 +5 -100 23.0 23.0
4 INS-2 v3 -100 29.0 17.0 24 S = vK 110 29.0 17.0| 5 17 34 S-1 *Q -100 23.0 23.0
32 INS-2 v2 -100 29.0 17.0 24 S = vA 110 29.0 17.0|10 12 3v N-1 *4 -100 23.0 23.0
39 2¢ N-2 *A -100 29.0 17.0 4v O -1 a4 100 19.0 27.0|16 6 5#N-1 vJ -100 23.0 23.0
1 24 O = *4 -110 23.0 23.0 4v O-1 a4 100 19.0 27.0(21 1 3NS-1 ¢3 -100 23.0 23.0
6 2y O= v6 -110 23.0 23.0 4v O -1 a4 100 19.0 27.0|22 47 3« N-1 43 -100 23.0 23.0
30 2v V+1 ¢+ Q -140 18.0 28.0 4v O -1 a4 100 19.0 27.0|26 43 4 N-1 +5 -100 23.0 23.0
40 2v V+1 +8 -140 18.0 28.0 4v O-1 a2 100 19.0 27.0|37 32 3NS-1 o7 -100 23.0 23.0
48 24 O+1 K -140 18.0 28.0 4v O -1 a4 100 19.0 27.0|44 25 3NS-1 ¢5 -100 23.0 23.0
15 2¢ N-3 vJ -150 14.0 32.0 4v O -1 v2 100 19.0 27.0|48 15 4&N-1 +K -100 23.0 23.0
23 24 O+2 &4 -170  12.0 34.0 4v O-1 a4 100 19.0 27.0] 9 13 3¢ O+1 #A -130 11.0 35.0
21 3 S-4 a) -200 9.0 37.0 3y V= 45 -140 10.0 36.0|42 27 44 O= *A -130 11.0 35.0
45 38 S -4 L) -200 9.0 37.0 INV +2 v6 -150 8.0 38.0| 8 14 3¢ O+2 #A -150 8.0 38.0
25 4v N-5 ¢5 -250 6.0 40.0 3y V+1 45 170 6.0 40.0| 3 19 24 V+3 &5 -200 5.0 41.0
20 4v V = 4 A -620 2.0 44.0 4v O = a4 -620 2.0 44.0|34 35 +2 *Q -200 5.0 41.0
36 4y V = vT -620 2.0 44.0 4y O = 8 -620 2.0 44.0|30 39 O= #A -510 1.0 450
43 4v V= *Q -620 2.0 44.0 4v V = v6 -620 2.0 44.0|41 28 O= @A -510 1.0 450
22 « E8432 «E75 24 4 K74
Ost vD1075 v8 Vast v 109
oV ¢- ¢+ D9754 Ingen + 986
«D1098 #K972 #Kn10942
aKKn6 495 4D1083 4K96 4Kn986 4ES5
v 63 v 942 v K72 v EKn5 v 753 v EKDKn86
¢ D8653 ¢ EKNn10942 +82 ¢ EKn63 ¢ KKn10 ¢ED
#E75 *Kn4 #ED64 #4853 *763 *KD8
« D107 & Kn42 «D1032
v EKKn8 vD109643 v42
¢ K7 ¢ K10 ¢ 75432
#K632 #Kn10 #E5
Par Kontr Ut Res Poang Kontr ut Res Poang Par Kontr ut Res Poang
2 4v S +1 v3 450 41.0 5.0 3a V-2 v8 200 440 20| 7 12 6v0O-1 43 50 43.0 3.0
21 4y N+1 o] 450 41.0 5.0 3N O -2 LN 200 440 20| 9 15 6v V-1 +6 50 43.0 3.0
26 4v S +1 v3 450 41.0 5.0 4e V-2 v8 200 440 20|17 48 6v O-1 *2 50 43.0 3.0
30 4e N+1  ¢A 450 41.0 5.0 2y N= &5 110 40.0 6.0|34 37 6NV-1 *) 50 43.0 3.0
31 4v S +1 ¢3 450 41.0 5.0 3NO-1 a4 100 340 120 6 18 4v O+1 v6 -450 36.0 10.0
48 44 N+1 49 450 41.0 5.0 la V-1 v8 100 340 120|122 2 4v O+1 &2 -450 36.0 10.0
5 4e S = *A 420 24.0 22.0 3NV-1 *4 100 340 12035 36 4y O+1 «4 -450 36.0 10.0
7 4v S = v6 420 24.0 22.0 24 V-1 v8 100 340 120| 5 19 3NO+2 5 -460 29.0 17.0
8 4v N = v4 420 24.0 22.0 3NO-1 v6 100 340 120|125 46 3NO+2 43 -460 29.0 17.0
9 4e S = *A 420 24.0 22.0 2y N-1 46 -100 28.0 18.0|32 39 3NO+2 ¢2 -460 29.0 17.0
22 4v S = *2 420 24.0 22.0 24 V = v8 -110 26.0 20.0|41 30 3NO+2 ¢2 -460 29.0 17.0
24 4v S= +3 420 24.0 22.0 INO+1 v3 -120 240 22.0| 4 20 5v O+l  #A -480 21.0 25.0
34 4v S = v6 420 24.0 22.0 2NO+1 v4 -150 21.0 25.0|38 33 4v O+2 #A -480 21.0 25.0
37 44 N= v2 420 24.0 22.0 INO+2 v3 -150 21.0 25.0|42 29 4y V+2  #A -480 21.0 25.0
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41 28 44 N= ¢ A 420 240 220| 6 18 2vy N-2 +8 -200 14.0 32.0|47 24 4y O+2 &A -480 21.0 25.0
42 27 4v S= +3 420 240 220| 9 15 2vy N-2 46 -200 14.0 32.0| 3 21 3NO+3 +3 -490 15.0 31.0
46 23 44 N= &J 420 240 220|122 2 2¢ N-2 a3 -200 14.0 32.0|11 13 3NO+3 v4 -490 15.0 31.0
4 18 2v S+3 v6 200 12.0 34.0|32 39 2v S-2 +8 -200 14.0 32.0| 8 16 6vy O= &A -980 7.0 39.0
10 12 3v N+1 LN 170 10.0 36.0|42 29 24 N-2 &3 -200 14.0 32.0|10 14 6y O= &A -980 7.0 39.0
16 6 4v N-1 &J -50 7.0 39.0({41 30 3v S-3 +8 -300 8.0 38023 1 6vO0O= &A -980 7.0 39.0
40 29 4v S-1 +6 -50 7.0 39.0| 3 21 2¢DS-2 +8 -500 6.0 40.0|31 40 6v O= &A -980 7.0 39.0
44 25 4v S-2 v6 -100 4.0 42.0| 5 19 3NO= v8 -600 2.0 44.0|43 28 6y O= &A -980 7.0 39.0
3 19 4v S-3 v3 -150 1.0 450(11 13 3NV= &2 -600 2.0 440|145 26 6y O= &A -980 7.0 39.0
33 36 4v S-3 +3 -150 1.0 45035 36 3NO= v9 -600 20 44.0(27 44 6NO= &A -990 0.0 46.0
25 & Kn97432 26 «D1074 27 «E108
Nord v D75 Ost v Knl1062 Syd v 1098752
oV +5 Alla ¢+ Kn3 Ingen 2
&#KD3 &E74 S»E52
& K65 4108 482 sE 4Kn964 47532
vE6 v32 vD9873 vE54 vDKn v K4
¢ EKn83 ¢ D109762 + D4 + EK9765 ¢ Kn1086 ¢ K975
&#E942  #865 #KKn109 #D85 D64 #Kn109
«ED & KKn9653 «KD
v KKn10984 vK vE63
* K4 + 1082 ¢ ED43
&Kn107 »632 &K873
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 13 4v S= A 420 46.0 00| 1 25 6¢ O-2 a5 200 450 1.0(33 42 6vy N= &J 980 450 1.0
4 22 3v S+2 &A 200 440 2.0(42 31 3NO-2 46 200 450 1.0(43 32 6¥Yy N= *7 980 450 1.0
12 14 3v S+1 a5 170 39.0 70| 7 13 3NV-1 a7 100 380 80| 2 26 4y N+2 &J 480 29.0 17.0
32 41 3v S+l &A 170 390 70| 9 17 5v V-1 a7 100 380 80| 5 23 4y S+2 &4 480 29.0 17.0
43 30 2v S+2 a5 170 39.0 7.0({10 16 3NV-1 a7 100 380 8.0(11 17 4v N+2 &T 480 29.0 17.0
46 27 34 N+1 v3 170 390 70(23 3 3NV-1 a7 100 380 8.0(13 15 4v N+2 &J 480 29.0 17.0
6 20 34 N= +9 140 29.0 17.0(35 38 3NO-1 a5 100 380 80(19 9 4v S+2 *J 480 29.0 17.0
18 8 3v S= ¢A 140 29.0 17.0(32 41 4¢ O+1 46 -150 31.0 15.0(24 4 4v N+2 &J 480 29.0 17.0
24 2 34 S= a5 140 29.0 17.0(48 19 3¢ O+2 &2 -150 31.0 15.0(|25 3 4v S+2 +*J 480 29.0 17.0
26 47 24 S+1 vA 140 29.0 17.0| 4 22 240 +4 vK <170 27.0 19.0(27 1 4v N+2 a3 480 29.0 17.0
35 38 34 S= ¢A 140 29.0 170| 6 20 3¢ O+3 vK -170 27.0 19.0(29 46 4v S+2 46 480 29.0 17.0
42 31 3v N= v3 140 29.0 17.0(24 2 44DS-2 +Q -500 24.0 22.0|37 38 4v S+2 +*J 480 29.0 17.0
39 34 4¢ O-1 s A 100 220 240|128 45 5¢ O= a5 -600 22.0 24.0|40 35 4v S+2 *J 480 29.0 17.0
1 25 44 N-1 v6 -50 13.0 33.0( 5 21 4v V= &3 -620 12.0 34.0(44 31 4v N+2 a3 480 29.0 17.0
5 21 464 N-1 v2 -50 13.0 33.0(12 14 4v V= +J -620 12.0 34.0|45 30 4v N+2 a3 480 29.0 17.0
9 17 4v S-1 vA -50 13.0 33.0|18 8 5¢ O+1 vK -620 12.0 34.0 (47 28 4v N+2 &J 480 29.0 17.0
10 16 44 N-1 +6 -50 13.0 33.0|26 47 4v V= a7 -620 12.0 340 6 22 4v N+1 *Q 450 7.0 39.0
11 15 4v S-1 *A -50 13.0 33.0|33 40 4v V= & Q -620 12.0 34.0| 7 14 4v N+1 &J 450 7.0 39.0
23 3 44 N-1 48 -50 13.0 33.0(36 37 4v V= a7 -620 12.0 34.0( 8 20 4v N+1 v4 450 7.0 39.0
28 45 4v S-1 vA -50 13.0 33.0(43 30 4v O= *T -620 12.0 34.0(10 18 4v S+1 &4 450 7.0 39.0
33 40 4v S-1 vA -50 13.0 33.0(44 29 4v V= a7 -620 12.0 34.0|12 16 4v N+1 &J 450 7.0 39.0
36 37 4vyDS-1 vA -100 3.0 43.0|46 27 5¢ O+1 vK -620 12.0 34.0|34 41 4v S+1 vQ 450 7.0 39.0
48 19 4¢vyDS-1 +¢A -100 3.0 430|139 34 3NO+3 vK -690 20 44.0(36 39 4v N+1 &J 450 7.0 39.0
44 29 2NV = a3 -120 0.0 46.0(11 15 4vDV= LY -790 0.0 46.0(48 21 4v N+1 &J 450 7.0 39.0
28 « 964 29 «D10982 30 10743
Vast v 109642 Nord v ED53 Ost v E42
NS *7 Alla ¢ Kn53 Ingen + E863
£10842 &6 96
a72 & Knl0 aKn765 &E3 & Kn6 & KD92
vyKn75 vED vKn v 10976 v K95 v D83
¢ DKn43 ¢ K109652 ¢+ EK972 ¢ D864 ¢ KKn972 ¢ D104
#K976  #EDKn &KD2 #Kn103 &732 &EKn4
« EKD853 & K4 « E85
v K83 v K842 v Kn1076
+E8 +10 +5
&53 &#E98754 #KD1085
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
5 23 3NO-4 s A 200 46.0 0.0(20 10 44 N= +6 620 46,0 0.0(25 5 24DN= ¢Q 470 46.0 0.0
40 35 INDS= +Q 180 440 2.0(30 47 3v S+2 ¢ A 200 440 20| 1 29 3NV-3 v2 150 43.0 3.0
24 4 3NO-3 s A 150 400 6.0(25 5 3vy N+1 +Q 170 410 50| 6 24 2v O-3 &K 150 43.0 3.0
36 39 3NO-3 s A 150 400 6.0(26 4 3v S+1 *A 170 41.0 50|48 23 2v N+1 &K 140 40.0 6.0
43 32 3NO-3 s A 150 400 6.0 6 24 3v S= *A 140 34.0 12.0|41 36 2v S= & 110 38.0 8.0
13 15 34 S= +Q 140 36.0 10.0( 7 15 3v S= *A 140 340 12.0(35 42 2NO-2 &K 100 35.0 11.0
19 9 44 S-1 +Q -100 34.0 120| 9 21 3vy N= +6 140 340 12.0(45 32 3¢DV-1 &9 100 35.0 11.0
2 26 4¢ O= &K -130 16.0 30.0|11 19 3v N= *T 140 340 120(14 16 INO-1 &K 50 27.0 19.0
6 22 3¢ O+1 s A -130 16.0 30.0|12 18 3v N= +6 140 340 12.0(28 2 INO-1 &K 50 27.0 19.0
7 14 44 O= 46 -130 16.0 30.0|14 16 24 N= +6 110 26.0 20.0(30 47 INV-1 v2 50 27.0 19.0
8 20 4¢ O= s A -130 16.0 30.0|41 36 24 N= s A 110 26.0 20.0|38 39 2NO-1 &K 50 27.0 19.0
10 18 3¢ O+1 s A -130 16.0 30.0|44 33 24 N= &] 110 26.0 20.0(44 33 INV-1 a4 50 27.0 19.0
11 17 44 O= &K -130 16.0 30.0(45 32 4¢ V-1 &6 100 220 240|146 31 2NO-1 &K 50 27.0 19.0
12 16 3¢ O+1 s A -130 16.0 30.0| 1 29 4v S-1 *A -100 18.0 28.0| 8 22 2¢ V= &9 -90 17.0 29.0
25 3 4¢ 0= & K -130 16.0 30.0|34 43 4v N-1 vT -100 18.0 28.0|11 19 2¢ V= &9 90 17.0 29.0
27 1 44 O= s A -130 16.0 30.0|{38 39 3#S-1 ¢A -100 18.0 28.0|34 43 INO= &5 -90 17.0 29.0
29 46 4¢ V= LY -130 16.0 30.0| 8 22 2¢ V+1 &5 -110 12.0 34.0|37 40 2¢ V= &9 -90 17.0 29.0
33 42 3¢ O+1 s A -130 16.0 30.0|28 2 3¢ V= &6 -110 12.0 34.0| 3 27 3v N-2 +4 -100 11.0 35.0
34 41 4¢ O= s A -130 16.0 30.0|46 31 3¢ V= &6 -110 12.0 34.0| 7 15 4#S-2 &2 -100 11.0 35.0
37 38 4¢ O= s A -130 16.0 30.0(35 42 3¢ V+1 &6 -130 8.0 38.0|20 10 INO+1 &K -120 7.0 39.0
44 31 3¢ O+1 s A -130 16.0 30.0|13 17 4vDS-1 +A -200 50 41026 4 INO+1 &K -120 7.0 39.0
45 30 4¢ O= s A -130 16.0 30.0|48 23 3v N-2 *7 -200 50 410 9 21 INO+2 &K -150 3.0 43.0
47 28 4¢ O= s A -130 16.0 30.0| 3 27 4¢vDN-2 +6 -500 2.0 44.0|13 17 INO+2 &K -150 3.0 43.0
48 21 4¢ O= s A -130 16.0 30.0|37 40 3¢DV= &6 -670 0.0 46.0(12 18 INO +3 &K -180 0.0 46.0
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31 & K62 32 « D107 33 #9753
Syd v D954 Vast vKn743 Nord vKD7
NS + D863 ov ¢+ D97 Ingen + KKn6
#E6 #E86 #E52
«D9853 4Knl0 ~E96 & Kn84 4EKn84  4KD62
v K2 v Kn1076 vD8 v K965 v4 v E953
¢10752 ¢ K4 ¢E106 ¢ Kn52 ¢ 1075432 +ES8
«107 #DKn852 #K9742 #DKnl10 &Kn7 «D83
~E74 K532 10
vE83 vE102 v Kn10862
¢ EKn9 ¢ K843 + D9
#K943 #53 #K10964
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 28 3NS+2 43 660 43.0 30|14 18 24 N-1 a4 50 440 2.0(37 44 2v S+2 *2 170 46.0 0.0
13 19 3NS+2 45 660 43.0 3.0|42 37 24 N-1 *Q 50 440 20(46 35 INN+1 &K 120 440 20
31 1 3NS+2 3 660 43.0 3.0(46 33 2¢ N-1 *Q 50 440 20(22 12 2#S+1 *2 110 41.0 5.0
45 34 3NS+2 5 660 430 30|29 3 INO= a2 90 390 7.0[27 48 3#S= ¢5 110 41.0 5.0
9 23 3NS+1 3 630 28.0 18.0|39 40 INO= 43 -90 390 7.0[10 24 44 V-2 vK 100 37.0 9.0
10 22 3NS+1 8 630 28.0 180|26 6 2v N-2 *Q -100 36.0 10.0|36 45 44 V-2 vK 100 37.0 9.0
14 18 3NS+1 43 630 28.0 18.0|13 19 3+ V= a7 -110 34.0 12014 20 34 V-1 vK 50 31.0 15.0
21 11 3NS+1 a5 630 28.0 18.0| 2 30 INV+1 a7 -120 25.0 21.0|16 18 INO-1 vJ 50 31.0 15.0
26 6 3NS+1 *T 630 28.0 18.0| 4 28 INV+1 a7 -120 25.0 21.0|128 6 INO-1 v4 50 31.0 150
29 3 3NS+1 5 630 28.0 18.0|12 20 INV+1 o7 -120 25.0 21.0|30 4 34 V-1 vK 50 31.0 15.0
35 44 3NS+1 &T 630 28.0 18.0|15 17 INO+1 46 -120 25.0 21.0|11 23 2vS-1 a4 -50 26.0 20.0
36 43 3NS+1 &T 630 280 18.0|31 1 INV+1 a7 -120 25.0 21.0| 1 33 INO= v2 90 21.0 250
38 41 3NS+1 &T 630 28.0 18.0|35 44 1INV +1 v4 -120 25.0 21.0|15 19 INO= vJ -90 210 25.0
47 32 3NS+1 3 630 28.0 18.0|36 43 1INV +1 a7 -120 25.0 21.0|40 41 INO= vJ -90 210 25.0
48 25 3NS+1 3 630 28.0 18.0|38 41 INO+1 43 -120 25.0 21.0|43 38 INO= vJ 90 21.0 250
2 30 3NS= 43 600 11.0 35.0| 7 16 INV+2 a7 -150 10.0 36.0| 3 31 3¢ V= vK -110 13.0 33.0
7 16 3NS= 43 600 11.0 35.0| 8 24 1INV +2 v4 -150 10.0 36.0| 8 26 24 O= vJ -110 13.0 33.0
8 24 3NS= 3 600 11.0 35.0|10 22 INO+2 43 -150 10.0 36.0| 9 25 3¢ V= vK -110 13.0 33.0
12 20 3NS= a5 600 11.0 35.0|21 11 INV+2 2Q -150 10.0 36.0|13 21 3¢ V= vK -110 13.0 33.0
15 17 3NS= 45 600 11.0 35.0|27 5 INV+2 v4 -150 10.0 36.0|39 42 3¢ V+1 &2 -130 8.0 38.0
27 5 3NS= 3 600 11.0 35.0|45 34 INV+2 a7 -150 10.0 36.0| 5 29 34 O= vJ -140 4.0 42.0
39 40 3NS-1 43 -100 20 44.0|47 32 INN-3 *Q -150 10.0 36.0| 7 17 34 V= vK -140 4.0 420
42 37 3NS-1 a5 -100 20 44.0| 9 23 INDV+1l a7 -380 10 45032 2 3aV= 43 -140 4.0 420
46 33 3NS-1 &T -100 2.0 44.0|48 25 INDV+1 a7 -380 1.0 450(47 34 54DN-3 oK -500 0.0 46.0
34 « DKn6 35 « KD1072 36 4 Kn86
Ost vD7 Syd vK7 Vast v 872
NS ¢ DKNn7543 oV ¢+ Kn72 Alla + Kn653
98 #Kn62 #KD2
4843 4 EK102 465 a4 4K9543 472
v 632 v EK1085 vD9 v EKn108654 v63 v EKD954
¢E2 + 106 ¢+ EK86 D5 +D842 497
#E6542 #107 #E8743 #KD5 *Kn6 »E84
4975 « EKn983 «EDI10
v Kn94 v32 vKnl10
+ K98 410943 ¢ EK10
#KDKn3 «109 #109753
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
14 20 4v O-1 &K 50 46.0 00| 1 35 44S-4 ¢A -200 46.0 00|15 21 3NO-2 &T 200 46.0 0.0
22 12 INV= *2 90 440 20(14 22 44DN-3 ©vA -500 43.0 3.0|29 48 3¢ N= vA 110 440 20
7 17 INO+1 &K -120 400 6.0|31 5 44DN-3 &K -500 43.0 3.0|38 45 3v O-1 &T 100 42.0 4.0
11 23 INV+1 «Q -120 400 6.0| 2 34 5v O+1 4A -680 28.0 18.0|23 13 3¢ N-1 vA -100 40.0 6.0
36 45 INV+1 2Q -120 40.0 6.0| 4 32 5v O+1 4A -680 28.0 18.0| 7 18 2v O= vlJ -110 37.0 9.0
13 21 2vO+1 #K -140 34.0 120| 6 30 5v O+1 &A -680 28.0 18.0| 9 27 2v0O= ¢ A -110 37.0 9.0
15 19 2v O+1 &K -140 34.0 12010 26 5v O+1 &A -680 28.0 180| 1 35 2v O+1 43 -140 19.0 27.0
39 42 3v 0= *K -140 34.0 12.0|11 25 5v O+1 4A -680 28.0 18.0| 2 34 2v O+1 +A -140 19.0 27.0
529 2v0+2 &K -170  23.0 23.0|12 24 4v V+2 +K -680 28.0 18.0| 4 32 2v O+1  &T -140 19.0 27.0
8 26 34 V+1 +Q -170  23.0 23.0|15 21 5v O+1 &A -680 28.0 18.0| 6 30 2v O+1 +A -140 19.0 27.0
9 25 3v O+1 &K -170  23.0 23.0|16 20 5v O+1 4A -680 28.0 18.0|10 26 3v O= ¢A -140 19.0 27.0
10 24 24 V+2 +Q -170 23.0 23.0|128 8 5v O+1 &A -680 28.0 18.0|11 25 2v O+1 +¢K -140 19.0 27.0
27 48 2v O+2 #K -170 23.0 23.0|33 3 5v O+1 &A -680 28.0 18.0|12 24 2v O+1 +A -140 19.0 27.0
30 4 2v0+2 #K -170  23.0 23.0|38 45 5v O+1 4A -680 28.0 18.0|14 22 3v O= ¢ A -140 19.0 27.0
37 44 2v O+2 #K -170  23.0 23.0|40 43 5v O+1 &A -680 28.0 18.0|16 20 2v O+1  &T -140 19.0 27.0
46 35 2v O+2 &K -170  23.0 23.0|44 39 4v O+2 &A -680 28.0 18.0|17 19 2v O+1 &2 -140 19.0 27.0
16 18 1INV +3 2Q -180 13.0 33.0| 7 18 4y O+3 T -710 13.0 33.0|28 8 2y O+1 T -140 19.0 27.0
47 34 INV+3 +Q -180 13.0 33.0|29 48 4v O+3 ¢4 -710 13.0 33.0|31 5 3vO= vJ -140 19.0 27.0
133 290+3 #K -200 9.0 37.0(41 42 44DN-4 &K -800 10.0 36.0|37 46 2v O+1 +¢A -140 19.0 27.0
40 41 2v O+3 #K -200 9.0 37.0| 9 27 64 V= oA -1370 8.0 38.0|41 42 2v O+1 +A -140 19.0 27.0
3 31 4v V= +K -420 30 43.0(37 46 64aDS-6 +A -1400 6.0 40.0{44 39 2v O+1 +A -140 19.0 27.0
28 6 4v O= &K -420 3.0 43.0|23 13 6v O= 4 A -1430 3.0 43.0|47 36 3v O= &T -140 19.0 27.0
32 2 4v 0= &K -420 3.0 43.0|47 36 6y O= & A -1430 3.0 43.0[40 43 2v O+2 +A -170 2.0 44.0
43 38 4v O= +K -420 3.0 43.0(17 19 6y O+1 T -1460 0.0 46.0{33 3 2NS-3 vQ -300 0.0 46.0
37 « EKn98743 38 « KD953 39 « EKD10
Nord v K6 Ost v 1094 Syd v Kn10972
NS ¢ E6G3 ov +10432 Alla ¢+ KD
&E &K «D8
4 D65 a- » Kn64 4102 476542 &Kn8
vKn10752 v94 v- v EDKn5 vKD54 vE
¢D ¢ KKn542 ¢ Kn987 ¢ EKD65 ¢1085 ¢ EKn763
#Kn962 #D87543 #DKn9832 #54 *2 #K6543
K102 « E87 93
vED83 v K87632 v 863
¢10987 ¢- 4942
+K10 #E1076 #EKn1097
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang

Orebridgen, Orebridgens Guld 2014-12-28, sida 6 av 11




34 4 TNS= ¢Q 2220 46.0 00| 7 19 6¢DO-4 3 1100 46.0 0.0(25 15 5¢DV-5 &K 1400 46.0 0.0
30 8 74 N= &3 2210 420 40(32 6 3vDS+2 «Q 730 440 20| 7 20 5¢4DO-4 3 1100 440 2.0
32 6 74 N= 8 2210 420 40| 1 37 4vDS+1 &Q 690 40.0 6.0(13 27 3¢DV-2 &A 500 420 4.0
42 43 74 N= &3 2210 420 4.0(13 25 4vyDS+1 #Q 690 40.0 6.0(42 45 3¢ V-3 s A 300 40.0 6.0
3 35 64 N+1 &4 1460 30.0 16.0(24 14 4vDS+1 &Q 690 40.0 6.0 3 37 4¢ O-2 2 200 38.0 8.0
10 28 64 N+1 &4 1460 30.0 160 2 36 4vyDS= +8 590 36.0 100 2 38 3v N= ¢ A 140 32.0 14.0
11 27 64 N+1 &4 1460 30.0 16.0(29 9 5¢D0O-2 &A 500 32.0 140| 4 36 3v N= aJ 140 32.0 14.0
24 14 64 N +1 &3 1460 30.0 16.0(30 8 5¢DO-2 4 500 32.0 140| 8 32 3vy N= ¢ A 140 32.0 14.0
29 9 64 N+1 &4 1460 30.0 16.0(34 4 5¢D0O-2 &A 500 320 140(11 29 3v N= ¢ A 140 32.0 14.0
38 47 64 N+1 &3 1460 30.0 16.0(15 23 4v S+1 ¢7 450 28.0 18.0(33 48 3v N= aJ 140 32.0 14.0
39 46 64 N +1 &8 1460 30.0 16.0| 3 35 4v S= *Q 420 240 22.0(18 22 INN+1 +3 120 25.0 21.0
45 40 64 N+1 &4 1460 30.0 16.0|11 27 4v S= *Q 420 240 22.0(30 10 INN+1 +3 120 25.0 21.0
48 31 64 N+1 &4 1460 30.0 16.0(39 46 44 N= ¢ A 420 240 220| 6 34 2v N= *6 110 21.0 25.0
17 21 6NS= v5 1440 18.0 28.0 (38 47 5¢ O-3 aA 300 200 26.0|39 1 1v N+1 LX) 110 21.0 25.0
18 20 6NN = v3 1440 18.0 28.0 (17 21 4e¢ V-2 v7 200 16.0 30.0(14 26 2¢ O-1 +3 100 18.0 28.0
41 44 6NN = v9 1440 18.0 28.0 (18 20 4¢ O-2 v3 200 16.0 30.0(16 24 3v N-1 ¢ A -100 14.0 32.0
2 36 64 N= ¢3 1430 13.0 33.0 (41 44 3v S+2 *Q 200 16.0 30.0 (17 23 4v N-1 ¢ A -100 14.0 32.0
16 22 64 N= ¢4 1430 13.0 330 5 33 3v N+1 ¢ A 170 11.0 35.0(46 41 3v N-1 ¢ A -100 14.0 32.0
1 37 74DV -4 &A 800 10.0 36.0 (42 43 2v S+2 *Q 170 11.0 35.0(12 28 4v N-2 ¢ A -200 5.0 41.0
5 33 54 N+2 LY 710 7.0 39.0|12 26 5¢ O-1 v3 100 6.0 40.0|19 21 4v N-2 aJ -200 5.0 41.0
12 26 54 N+2 LY 710 7.0 39.0|16 22 4¢ O-1 v4 100 6.0 40.0|31 9 4vyDN-1 ¥vA -200 5.0 41.0
7 19 44 N+2 +4 680 3.0 43.0|48 31 3¢ O-1 v2 100 6.0 40.0|35 5 3v N-2 vA -200 5.0 41.0
13 25 44 N+2 &7 680 3.0 43.0|45 40 44DN-1 <A -100 2.0 44.0|40 47 3v N-2 ¢ A -200 5.0 41.0
15 23 54DV -3 #A 500 0.0 46.0|10 28 4¢ O= v3 -130 0.0 46.0|43 44 4y N-2 &3 -200 5.0 41.0
40 « E54 41 # K82 42 @-
Vast v K9764 Nord v 10874 Ost v KDKn854
Ingen + K ov ¢+ D754 Alla 410832
#10975 #Kn3 #Kn75
41096 &7 «4E104 4965 « E632 & K9854
vE105 vDKn2 vKKn95 v D632 v9 v 763
¢ D8542 ¢ Knl10973 ¢ 1063 ¢ Kn82 + D6 + KKn7
*43 #EDKnN6 #954 *E72 #KD10983 &E4
« KDKn832 & DKn73 « DKn107
v 83 vE vE102
¢+ E6 + EK9 ¢+ E954
K82 #KD1086 62
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 34 5¢DV-3 &A 500 430 30| 9 33 3NN+2 v2 460 440 20(41 1 54DO-2 ¥vA 500 46.0 0.0
16 24 54D O-3 &K 500 430 30(36 6 3NN+2 49 460 440 20| 3 39 44DO-1 ¥vA 200 26.0 20.0
18 22 54D O-3 &K 500 43.0 3.0(47 42 3NN+2 +6 460 440 20| 4 38 44DO-1 ©vA 200 26.0 20.0
25 15 5¢DO-3 «Q 500 430 30| 7 21 3NN+1 2 430 370 90| 5 37 44DO-1 ¥vA 200 26.0 20.0
2 38 44 S+1 2 450 36.0 10.0(12 30 3NN +1 +4 430 370 90| 7 21 44DO-1 +A 200 26.0 20.0
30 10 44 S+1 vA 450 36.0 10.0(18 24 3NN +1 2 430 370 90| 9 33 44DO-1 ¥vA 200 26.0 20.0
35 5 44 S+1 2 450 36.0 10.0(40 2 3NS+1 v8 430 370 9.0(13 29 44DO-1 +A 200 26.0 20.0
31 9 44 S= &4 420 29.0 170| 3 39 3NS= +3 400 29.0 17.0(14 28 44DO-1 YA 200 26.0 20.0
33 48 44 S= 2 420 29.0 17.0|17 25 3NS= v9 400 29.0 17.0(15 27 44DO-1 YA 200 26.0 20.0
39 1 44 S= 2 420 29.0 17.0(19 23 3NN= v3 400 29.0 17.0(17 25 44DO-1 vA 200 26.0 20.0
46 41 44 S= &4 420 29.0 17.0(32 10 3NS= +3 400 29.0 17.0|18 24 44DO-1 vA 200 26.0 20.0
17 23 3NS= 2 400 240 22.0(13 29 24 S+3 +3 200 21.0 25.0(19 23 44DO-1 YA 200 26.0 20.0
11 29 24 S+3 aT 200 21.0 25.0(14 28 24 S+3 a4 200 21.0 25.0(20 22 44DO-1 &3 200 26.0 20.0
42 45 38 V-4 s A 200 21.0 25.0(26 16 24 S+3 a5 200 210 25.0(26 16 44DO-1 YA 200 26.0 20.0
4 36 34 S+1 2 170 13.0 33.0(41 1 14 S+4 +3 200 21.0 25.0(31 11 44DO-1 YA 200 26.0 20.0
7 20 24 S+2 *2 170 13.0 33.0(20 22 14 S+3 +3 170 15,0 31.0(32 10 44DO-1 vA 200 26.0 20.0
8 32 34 S+1 &4 170 13.0 33.0(31 11 14 S+3 +3 170 150 31.0(34 8 44DO-1 YA 200 26.0 20.0
12 28 34 S+1 2 170 13.0 33.0(34 8 2NS+1 +3 150 110 350(36 6 44DO-1 YA 200 26.0 20.0
14 26 34 S+1 &4 170 13.0 33.0(44 45 24 S+3 &4 150 11.0 35.0(47 42 44DO-1 +A 200 26.0 20.0
43 44 34 S+1 2 170 13.0 33.0| 4 38 24 S+1 v9 140 8.0 38.0|48 35 44DO-1 +A 200 26.0 20.0
3 37 5¢ O-3 &K 150 6.0 40.0| 5 37 3NN-1 v2 -50 3.0 43.0|12 30 44 O-1 *6 100 3.0 43.0
40 47 34 S= *6 140 40 42015 27 3NN-1 49 -50 3.0 43.0|40 2 44 0-1 ¢ A 100 3.0 43.0
13 27 44 O-2 s K 100 1.0 450|433 46 3NN-1 v3 -50 3.0 43.0|43 46 44 O-1 *6 100 3.0 43.0
19 21 5¢ O-2 &K 100 1.0 450(48 35 3NN-1 v3 -50 3.0 43.0|44 45 44 O-1 vA 100 3.0 43.0
43 410762 44 #« KKn5 45 +« EK8
Syd v Kn3 Vast v97 Nord v K103
Ingen ¢ EKD NS ¢ EK1074 Alla ¢ K9843
#E865 &765 &52
aD4 & E985 49432 «D 442 473
vE982 vK75 vK3 vD1086 v 8764 vE5
+ 874 + Kn103 ¢ DKn9 48632 +D10652 ¢ Kn
#Kn942 #D107 #ED42 #K1083 *E9 #DKn1087643
 KKn3 « E10876 « DKn10965
vD1064 v EKn542 v DKn92
4 9652 +5 ¢ E7
#K3 #Kn9 &K
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
21 23 INS+3 v2 180 46.0 0.0(13 31 24DS= &2 670 46.0 00| 2 44 44 S+1 A 650 29.0 17.0
8 36 INS+2 +8 150 340 120|221 23 44 S= »2 620 43.0 30| 6 40 54 S= A 650 29.0 17.0
13 31 2NN +1 ¢J 150 340 120(41 3 44 S= vK 620 43.0 30| 7 23 44 N+1 A 650 29.0 17.0
14 30 INN+2 48 150 340 120| 4 40 3vyDO-3 +¢5 500 39.0 7.0[11 35 44 S+1 A 650 29.0 17.0
16 28 INN+2 48 150 340 12.0|27 17 44DV -3 +¢A 500 39.0 7.0(14 32 44 S+1 A 650 29.0 17.0
18 26 INN+2 3 150 340 120 1 43 24 S+2 vK 170 33.0 13.0(15 31 44 S+1 A 650 29.0 17.0
27 17 2NN +1 43 150 340 12.0(14 30 34 S+1 ¢ Q 170 33.0 13.0|(16 30 54 S= A 650 29.0 17.0
32 12 INN+2 8 150 340 12.0(32 12 24 N+2 &8 170 33.0 13.0(17 29 44 S+1 A 650 29.0 17.0
33 11 INS+2 &K 150 340 12.0(37 48 34 S+1 vK 170 33.0 13.0(20 26 44 S+1 &A 650 29.0 17.0
37 48 1NN +2 48 150 34.0 12.0(16 28 2v S+1 a5 140 26.0 20.0 (21 25 44 S+1 2 650 29.0 17.0
41 3 INN+2 a5 150 340 12.0(19 25 24 S+1 vK 140 26.0 20.0 (22 24 44 S+1 LY 650 29.0 17.0
44 47 1NN +2 ¢J 150 34.0 12.0(44 47 24 S+1 vK 140 26.0 20.0 (28 18 44 S+1 A 650 29.0 17.0
1 43 INN+1 ¢J 120 18.0 28.0(20 24 1s S+1 43 110 22.0 24.0(33 13 54 S= A 650 29.0 17.0
6 38 INN+1 48 120 18.0 28.0|33 11 INO-2 46 100 19.0 27.0|36 10 44 S+1 A 650 29.0 17.0
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7 22 2NN= +J 120 18.0 28.0(35 9 34DV-1 +A 100 19.0 27.0(38 8 44 S+1 & A 650 29.0 17.0
19 25 INS+1 4Q 120 18.0 28.0( 7 22 INO-1 v2 50 15.0 31.0(42 4 44 S+1 SA 650 29.0 17.0
35 9 2NN= *J 120 18.0 28.0(42 2 2#V-1 *A 50 150 31.0(45 1 44 N+1 &Q 650 29.0 17.0
45 46 2v V-2 *A 100 12.0 34.0(18 26 INO= v2 -90 12.0 34.0(46 47 44 S+1 & A 650 29.0 17.0

5 39 INN= ¢J 90 9.0 37.0| 6 38 34 S-1 43 -100 7.0 39.0| 5 41 44 N= ¢J 620 10.0 36.0
10 34 INN= *J 90 9.0 37.0|10 34 34 S-1 +Q -100 7.0 39.0| 9 37 54DO-2 4Q 500 8.0 38.0

4 40 2NN-1 +J -50 3.0 43.0|15 29 34 S-1 a7 -100 7.0 39.0|19 27 54D O-1 +A 200 4.0 42.0
15 29 2NN-1 ¢J -50 3.0 43.0|45 46 44 S-1 ¢+ Q -100 7.0 39.0|34 12 54D O-1 +A 200 4.0 42.0
20 24 3NS-1 &3 -50 3.0 430| 5 39 34 S-2 vK -200 1.0 450(48 39 3a S+2 &A 200 4.0 420
42 2 2NN-1 +J -50 3.0 43.0| 8 36 44 S-2 a2 -200 10 450(43 3 540-1 ¢ A 100 0.0 46.0
46 « KDKn96 47 « KDKn1076 48 « ED3
Ost vEKn Syd v 86 Vast v 96
Ingen + EK10 NS +D9 ov ¢+ EDKNn1072

£964 £#KD7 #EKn
41072 &E4 « E83 442 4 Kn984 452
v8762  vD53 vE7 v KDKn3 vKKn3 ¢E1074
¢ DKn92 4875 ¢+ E6 + K8543 +98 463
&ED #Kn7532 #Kn109865 #32 #K1082 #D9543

4853 495 « K1076

v K1094 v 109542 v D852

4643 ¢ Kn1072 + K54

#K108 &E4 &76

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

2 44 3NS+1 +Q 430 43.0 3.0|15 33 54DV-2 &K 300 46.0 00| 3 45 44DV-2 ¥9 500 46.0 0.0
17 29 3NN+1 »3 430 430 30|21 27 5&V-3 &K 150 43.0 30| 7 24 3NN+2 &3 460 38.0 8.0
33 13 3NN +1 *2 430 430 30(43 5 4¢ 0O-3 46 150 43.0 30|14 34 3NS+2 &3 460 38.0 8.0
38 8 3NN+1 &3 430 43.0 3.0| 3 45 3NV-2 a K 100 37.0 9.0|21 27 3NS+2 a3 460 38.0 8.0
43 3 44 N= s A 420 370 90| 7 24 3NV-2 &K 100 37.0 9.0|23 25 3NN +2 &6 460 38.0 8.0
46 47 44 N= LX) 420 370 90|17 31 44DV-1 &K 100 37.0 9.0|37 11 3NN+2 v2 460 38.0 8.0
15 31 3NN= +5 400 34.0 12.0|22 26 4% V-2 a K 100 370 9.0(46 2 3NN+2 v7 460 38.0 8.0

6 40 2N S +2 v6 180 29.0 17.0(12 36 2NV-1 &K 50 26.0 20.0(48 41 3NS+2 &8 460 38.0 8.0
22 24 2N N+2 &2 180 29.0 17.0|14 34 3« V-1 &K 50 26.0 20.0| 6 42 4NS= *2 430 17.0 29.0
28 18 2N S +2 +Q 180 29.0 17.0|18 30 3¢ V-1 a K 50 26.0 20.0| 8 40 3NN+1 &3 430 17.0 29.0
34 12 INN+3 »2 180 29.0 17.0(35 13 3# V-1 &K 50 26.0 20.0|10 38 3NN+1 &3 430 17.0 29.0
14 32 24 N+2 +3 170 23.0 23.0(37 11 3sV-1 &K 50 26.0 20.0|12 36 3NN+1 &3 430 17.0 29.0
20 26 24 N+2 +5 170 23.0 23039 9 3#V-1 a K 50 26.0 20.0|15 33 3NN+1 &3 430 17.0 29.0

5 41 INN+2 »2 150 18.0 28.0(44 4 34V-1 &K 50 26.0 20.0|16 32 3NN+1 &5 430 17.0 29.0
21 25 INN+2 *J 150 18.0 28.0(47 1 2¢ V= &K -90 18.0 28.0(17 31 3NN+1 &2 430 17.0 29.0
36 10 2NN +1 &2 150 18.0 28.0|20 28 34 N-1 vK -100 16.0 30.0(18 30 3NN +1 &3 430 17.0 29.0

7 23 24 S+1 »2 140 11.0 350 (| 6 42 34 V= &K -110 7.0 39.0|122 26 3NN+1 &2 430 17.0 29.0

9 37 24 N+1 »2 140 11.0 350(| 8 40 3# V= &K -110 7.0 39.0|129 19 3NN+1 &4 430 17.0 29.0
16 30 24 N+1 +5 140 11.0 35.0(10 38 32+ V= a K -110 7.0 39.0|35 13 3NN+1 v7 430 17.0 29.0
45 1 24 N+1 +5 140 11.0 35.0(16 32 34 V= &K -110 7.0 39.0|/39 9 3NN+1 &3 430 17.0 29.0
42 4 44 N-1 *2 -50 50 410|123 25 2V +1 &K -110 7.0 39.0|144 4 3NN+1 &3 430 17.0 29.0
48 39 44 N-1 &2 -50 50 41029 19 3+ V= a K -110 7.0 39.0|147 1 3NN+1 &8 430 17.0 29.0
11 35 44 N-2 »2 -100 1.0 450(46 2 3aV= &K -110 7.0 39.0|/20 28 3¢ N+1 45 130 2.0 440
19 27 3NN-2 *2 -100 1.0 450(48 41 3a&V= &K -110 7.0 39.0|43 5 5¢ N-1 *3 -50 0.0 46.0
49 « EKn862 50 «D 51 « E93
Nord v42 Ost v E965 Syd v ED102
Ingen ¢ 532 NS ¢ EKn8 ov 453

&E52 #K9643 #Kn1084
294 21073 » 87 & Kn9432 & Kn #1082
v EKKn5 ¥9873 v KKn10732 v- v98743 vKKn
+ 86 + KKn4 + K3 +D10742 ¢+ E98642 ¢ D10
#D9763 #KKnl0 #Kn52 D107 &5 #EKDG632
« KD5 +« EK1065 « KD7654
vD106 vD84 v 65
¢+ ED1097 4 965 ¢ KKn7
*84 &E8 £97

Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng

1 2 34 N+2 v9 200 383 7.7(24 26 3yvDV-6 4Q 1400 46.0 00| 7 26 54DO-4 4K 1100 440 20

7 25 34 N+2 v3 200 383 7.7(16 34 44DO-5 3 1100 440 20(14 38 3NDO-4 44 1100 440 2.0

9 41 24 S+3 vA 200 383 7.7| 9 41 34DO-4 &A 800 420 40|37 15 54D0O-4 4K 1100 440 2.0
11 39 34 N+2 43 200 383 7.7|/30 20 3NN +1 +4 630 380 80|19 33 5¢DV-2 A 500 390 7.0
19 31 34 N+2 v7 200 383 7.7(44 6 3NS+1 * K 630 38.0 80(39 13 5¢4DV-2 &A 500 39.0 7.0
23 27 34 N+2 v7 200 383 7.7(48 43 3NS+1 vT 630 38.0 80(36 16 44 N= &5 420 36.0 10.0
35 15 24 N+3 43 200 383 7.7| 4 46 3NN= ¢2 600 26.0 20.0(17 35 3NO-3 a K 300 34.0 12.0
40 10 24 S+3 vA 200 383 7.7|11 39 3NN= *2 600 260 200 1 4 340-2 v6 200 31.0 15.0

4 46 34 N+1 &T 170 23.0 23.0(13 37 3NS= 46 600 26.0 20.0 (45 48 34 0-2 v6 200 31.0 15.0
13 37 24 N+2 v3 170 23.0 23.0(19 31 3NN= &7 600 26.0 200 2 3 34 N= vK 140 20.0 26.0
16 34 34 S+1 +5 170 23.0 23.0(21 29 3NS= *2 600 26.0 200 5 47 34 S= &5 140 20.0 26.0
18 32 24 N+2 v3 170 23.0 23.0(22 28 3NS= A 600 26.0 20.0| 8 44 34 S= &5 140 20.0 26.0
38 12 24 N+2 v3 170 23.0 23.0(23 27 3NN= ¢2 600 26.0 20.0| 9 43 34 S= &5 140 20.0 26.0
44 6 24 N+2 &T 170 23.0 23.0(36 14 3NS= vT 600 26.0 20.0(18 34 34 S= &3 140 20.0 26.0

8 42 34 N= v9 140 12.1 33947 3 3NN= a2 600 26.0 20.0(22 30 34 N= L Y 140 20.0 26.0
21 29 34 N= v3 140 121 339 1 2 24DO-3 v4 500 15.0 31.0|24 28 24 N+1 &A 140 20.0 26.0
36 14 24 N+1 v9 140 121 33935 15 24DO-3 #A 500 150 31.0(41 11 34 S= &5 140 20.0 26.0
47 3 24 N+1 43 140 121 339| 8 42 3NS-1 48 -100 11.0 350|46 6 34 S= &5 140 20.0 26.0
30 20 24 N= &K 110 6.6 394|140 10 3NN-1 +6 -100 11.0 35.0(10 42 4v V-1 +5 100 9.0 37.0
17 33 3vyDO-1 &K 100 45 41517 33 3NS-2 ¢+ K -200 8.0 38.0|23 29 3¢ V-1 s A 100 9.0 37.0
48 43 INS= »3 90 23 437| 7 25 3NN-3 2 -300 40 42.0|12 40 44 S-1 &5 -50 4.0 42.0
45 5 34 N-1 v9 -50 0.1 459|118 32 3NN-3 +3 -300 40 42.0(25 27 34 S-1 &5 -50 4.0 420
24 26 A+/A- 276 18438 12 3NN-3 2 -300 40 42031 21 34 S-1 &5 -50 4.0 42.0
22 28 A-/A+ 184 27645 5 3NDN-2 2 -500 0.0 46.0|20 32 4¢ V= s A -130 0.0 46.0
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52 107 53 872 54 « Kn854
Vast v8 Nord v EKn Ost v D942
Alla + EK10532 NS + DKn64 ov ¢ 762
#10842 #Kn942 *76
«KD53 4 E864 « KKn1054 & ED9 » EK76 «D3
vKnl0 vEK74 v 962 v 875 v- v K8765
¢ 984 .7 ¢+ E9 + K1052 ¢+ KDKn985 ¢ 104
#DKn65 &EK73 #873 #E65 #DKn5 *K842
& Kn92 63 #1092
v D96532 vKD1043 v EKn103
+ DKn6 ¢ 873 ¢E3
&9 #KD10 #E1093
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 44 4v V-3 ¢ A 300 46.0 00| 6 1 440-2 vK 100 46.0 0.0(13 41 54DO-3 &T 800 46.0 0.0
18 34 5¢DN-2 #A -500 440 20| 7 27 34 V-1 a2 50 420 40| 2 5 2¢vDS= ¢K 470 440 20
25 27 44 V= v8 -620 400 6.0|11 43 34 V-1 vA 50 420 40| 9 45 2v0O-2 ¢ A 200 420 4.0
37 15 44 O= ¢ A -620 400 6.0|15 39 34 V-1 vA 50 420 40(32 22 3NO-1 vT 100 38.0 8.0
46 6 44 V= ¢A -620 400 6.0| 3 4 24 V= vA -110 25.0 21.0|37 17 3NO-1 *7 100 38.0 8.0
1 4 44 V+1 ¢ A -650 25.0 21.0(10 44 24 V= vA -110 25.0 21.0|46 8 3NO-1 vT 100 38.0 8.0
2 3 4e VH+1 ¢ A -650 25.0 21.0|13 41 24 V= vA -110 25.0 21.0|18 36 3v S-2 +3 -100 34.0 12.0
5 47 44 V +1 ¢A -650 25.0 21.0|18 36 24 V= vA -110 25.0 21.0| 6 1 3¢ V+1 *7 -130 27.0 19.0
7 26 44 V +1 ¢ A -650 25.0 21.0|19 35 24 V= vA -110 25.0 21.0| 7 27 3¢ O+1 ¢ A -130 27.0 19.0
9 43 44 V+1 ¢ A -650 25.0 21.0|21 33 24 V= vA -110 25.0 21.0(19 35 3¢ V+1 *6 -130 27.0 19.0
10 42 44 V+1 ¢A -650 25.0 21.0|23 31 24 V= a2 -110 25.0 21.0|20 34 3O +1 ¢ A -130 27.0 19.0
14 38 44 V+1 ¢ A -650 25.0 21.0|26 28 24 V= vA -110 25.0 21.0(42 12 2¢ O+2 T -130 27.0 19.0
19 33 44 O+1 ¢+ Q -650 25.0 21.0|32 22 24 V= vA -110  25.0 21.0 (47 48 2¢ V+2 &7 -130 27.0 19.0
22 30 44 O+1 ¢J -650 25.0 21.0|37 17 24 O= vA -110 25.0 21.0(26 28 24 V+1 &7 -140 20.0 26.0
23 29 44 V+1 ¢ A -650 25.0 21.0|38 16 24 V= a2 -110 25.0 21.0(10 44 2¢ V+3 &7 -150 14.0 32.0
39 13 4a V+1 v8 -650 25.0 21.0|42 12 24 V= vA -110  25.0 21.0(21 33 4¢ V+1 vQ -150 14.0 32.0
41 11 44 V+1 ¢ A -650 25.0 21.0|46 8 24 V= a2 -110 25.0 21.0(23 31 3¢ V+2 v4 -150 14.0 32.0
17 35 44 O+2 +Q -680 7.0 39.0|47 48 24 V= vA -110 25.0 21.0(24 30 3¢ V+2 &7 -150 14.0 32.0
20 32 44 V+2 ¢ A -680 70 39.0| 2 5 INO+1 vK -120 8.0 38.0|38 16 2¢ V+3 &7 -150 14.0 32.0
24 28 44 O +2 ¢ A -680 7.0 39.0| 9 45 INO+1 vK -120 8.0 38.0| 3 4 2NO+2 »3 -180 8.0 38.0
31 21 4e V+2 v8 -680 7.0 39.0|20 34 INO+1 vK -120 8.0 38.0|40 14 3NO= vT -600 6.0 40.0
36 16 44 O+2 ¢+ Q -680 7.0 39.0|24 30 24 V+1 vA -140 20 440|11 43 3NO+1 &3 -630 3.0 43.0
45 48 44 V +2 ¢ A -680 7.0 39.0|25 29 24 O+1 vK -140 20 44.0]15 39 3NO+1 »3 -630 3.0 43.0
12 40 64 O= ¢ A -1430 0.0 46.0|40 14 24 V+1 vA -140 20 440|125 29 3NO+2 aT -660 0.0 46.0
55 106 56 10763 57 @-
Syd v EKDKn Vast v K10742 Nord v 97653
Alla ¢ Kn102 Ingen ¢ EKn10 ov + 854
#K963 &5 #KD1074
4 K832 4754 & Kn & KD9852 4 Kn83 & K1097642
v 65 v 8742 vE9 vD vE2 vKD108
+D85 ¢EB3 4987642 ¢ D3 ¢ EDKn102 +¢6
#ED87 #Kn54 #E742 #D1093 #Kn92 &E
« EDKn9 «E4 « ED5
v 1093 v Kn8653 vKn4
¢+ K974 + K5 ¢ K973
£102 #KKn86 #8653
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
41 15 3NN +1 &4 630 46.0 0.0(41 15 4vDN+1 ¢Q 690 46.0 0.0(15 43 64aDO-1 ¥J 200 450 1.0
7 28 3NN-= v4 600 43.0 3.0(48 2 4v S+2 aJ 480 440 20|21 37 64DO-1 vJ 200 450 1.0
11 45 3NN= a4 600 430 30| 1 8 4v N+l &K 450 40.0 6.0(20 38 64 O-1 v] 100 38.0 8.0
39 17 INDN+2 &4 580 40.0 6.0(25 31 4v S+1 aJ 450 40.0 6.0(23 35 64 O-1 v4 100 38.0 8.0
10 46 1INV -2 vA 200 38.0 80(47 9 4v S+l &) 450 40.0 6.0(25 33 64 O-1 &5 100 38.0 8.0
22 34 INN+3 »2 180 36.0 100 4 5 3v N+2 vQ 200 33.0 13.0(27 31 64 O-1 »8 100 38.0 8.0
14 42 2v N+2 v2 170 33.0 13.0(10 46 3v N+2 &K 200 33.0 13.0(28 30 64 O-1 *6 100 38.0 8.0
25 31 2v N+2 LY 170 33.0 13.0(20 36 3v N+2 &K 200 33.0 13.0( 1 10 44 O+1 v] -650 16.0 30.0
1 8 INN+2 +3 150 25,0 21.0(21 35 2v S+3 a) 200 33.0 130 2 9 44 O+1 &) -650 16.0 30.0
12 44 INN+2 ¢ A 150 250 21.0(14 42 34 V-3 v2 150 28.0 18.0| 4 48 54 O= &5 -650 16.0 30.0
21 35 INN+2 &3 150 250 21.0(16 40 4¢DO-1 &5 100 240 220| 5 6 44 O+1 &5 -650 16.0 30.0
24 32 INS+2 3 150 25,0 21.0(38 18 3a V- ¢+ K 100 240 220 7 29 44 O+1 &5 -650 16.0 30.0
33 23 INN+2 v3 150 25.0 21.0(39 17 34 O-2 v3 100 240 220 8 3 44 O+1 &4 -650 16.0 30.0
43 13 2NN +1 +J 150 250 21.0(22 34 34 O-1 »2 50 18.0 28.0|11 47 44 O+1 &5 -650 16.0 30.0
4 5 2v N+1 &4 140 140 32.0(24 32 24 O-1 v3 50 18.0 28.0|12 46 44 O+1 v] -650 16.0 30.0
16 40 1e S+2 a4 140 140 32.0(26 30 24 O-1 v5 50 18.0 28.0 (13 45 44 O+1 &5 -650 16.0 30.0
19 37 2v N+1 v8 140 140 32.0(11 45 4v S-1 aJ 50 14.0 32.0(17 41 44 O+1 vJ] -650 16.0 30.0
20 36 2v N+1 v3 140 140 320 3 6 5vS-2 aJ -100 9.0 37.0|22 36 44 O+1 &2 -650 16.0 30.0
26 30 2v N+1 v4 140 140 320 7 28 4v N-2 &K -100 9.0 37.0|26 32 44 O+1 vJ] -650 16.0 30.0
48 2 INN+1 a7 120 8.0 38.0|19 37 4¢vDS-1 &J -100 9.0 37.0(34 24 44 O+1 v] -650 16.0 30.0
38 18 2v N= v2 110 6.0 40.0|33 23 4y N-2 &K -100 9.0 37.0|39 19 44 O+1 43 -650 16.0 30.0
3 6 INS= v6 90 3.0 43.0|12 44 2¢ O+1 #8 -110 3.0 43.0|40 18 44 O +1 vJ] -650 16.0 30.0
47 9 INN= a4 90 3.0 43.0|43 13 24 O= v3 -110 3.0 43.0|42 16 44 O+1 v] -650 16.0 30.0
27 29 3NN-1 v4 -100 0.0 46.0|27 29 4v N-3 &K -150 0.0 46.0|44 14 54 O= v] -650 16.0 30.0
58 « D75 59 4 K85 60 « D974
Ost v 10763 Syd v DKn104 Vast v 1032
Alla ¢ E2 Ingen 41063 NS 41053
& EK97 #1043 £#Kn94
4 EKn862 41094 497 & DKn432 4 E32 & KKn105
v EKn4 v K9 vK8765 w2 vKn87654 v EK9
495 + KDKn1043 4982 + EK5 +D + 86
#1083 *62 «D98 #KKn75 #ED2 #K1073
4 K3 «E106 + 86
v D852 vE93 vD
+ 876 ¢ DKn74 ¢ EKKNn9742
&DKn54 &E62 #865
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
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2 9 4e V-2 *A 200 450 10| 9 4 INN= «Q 90 46.0 0.0(26 34 4v V+1 +3 -450 45.0 1.0
26 32 3¢DO-1 &K 200 450 10| 2 11 24 0-1 ¢+ Q 50 37.0 9.0(43 17 4v V+1 +3 -450 450 1.0
13 45 3v S= +6 140 420 40| 3 10 240-1 +Q 50 370 9.0 2 11 4v V+2 +3 -480 32.0 14.0

8 3 2vS= +9 110 380 80|14 46 24 O-1 *Q 50 370 90| 7 30 4v V+2 +3 -480 32.0 14.0
12 46 2v S= ¢9 110 380 80|23 37 24 O-1 v3 50 370 90| 9 4 4vV+2 ¢3 -480 32.0 14.0
22 36 2v N= *2 110 380 80(26 34 24 O-1 vA 50 370 9.0(12 1 44 0+2 +A -480 32.0 14.0

5 6 3¢0-1 oK 100 33.0 13.0|29 31 24 O-1 *Q 50 37.0 9.0(13 47 4v V+2 +3 -480 32.0 14.0
17 41 3¢ O-1 &K 100 33.0 13.0|35 25 24 O-1 ¢ Q 50 370 90|16 44 44 O+2 v4 -480 32.0 14.0
11 47 3v S-1 +J -100 26.0 20.0|39 21 24 O-1 *7 50 370 9.0(24 36 4v V+2 +3 -480 32.0 14.0
21 37 3v N-1 ¢+ K -100 26.0 20.0| 5 8 2NN-1 &5 -50 26.0 20.0|28 32 4v V+2 +5 -480 32.0 14.0
23 35 3v S-1 ¢9 -100 26.0 20.0| 7 30 3¢ S-1 49 -50 26.0 20.0(39 21 4v V+2 +3 -480 32.0 14.0
25 33 3v S-1 +9 -100 26.0 20.0|22 38 3¢ S-1 *2 -50 26.0 20.0(41 19 4v V+2 +3 -480 32.0 14.0
28 30 3v S-1 +3 -100 26.0 20.0|41 19 3v N-2 «Q -100 22.0 24.0|45 15 4y V+2 +3 -480 32.0 14.0

1 10 24 V+1  #A -140 13.0 33.0| 6 48 24 O= ¢ Q -110 12.0 34.0| 3 10 4vy V43 v2 -510 13.0 33.0

7 29 24 V+1l  &A -140 13.0 33.0|12 1 24 O= *7 -110 12.0 340| 5 8 4vy V+3 44 -510 13.0 33.0
20 38 34 V= *A -140 13.0 33.0|13 47 24 O= 48 -110 12.0 340| 6 48 4y V+3 v2 -510 13.0 33.0
27 31 34 V= *A -140 13.0 33.0|16 44 24 O= vA -110 12.0 34.0|14 46 4y V43  #4 -510 13.0 33.0
34 24 24 V+1  #A -140 13.0 33.0|18 42 24 O= +3 -110 12.0 34.0|18 42 4y V+3 &7 -510 13.0 33.0
39 19 34 V= *A -140 13.0 33.0|24 36 24 O= 46 -110 12.0 34.0|22 38 4y V+3 &2 -510 13.0 33.0
42 16 34 V= *A -140 13.0 33.0|27 33 24 V= vQ -110 12.0 34.0|23 37 4y V43  v2 -510 13.0 33.0
44 14 24 V+1  #A -140 13.0 33.0|28 32 24 O= +Q -110 12.0 34.0|35 25 4v V+3 v2 -510 13.0 33.0
15 43 2y N-2 ¢+ K -200 4.0 420|140 20 24 O= *A -110 12.0 34.0|29 31 6v V= ¢3 -980 3.0 43.0
40 18 INDN-2 +¢K -500 2.0 44.0|43 17 24 O+1 +Q -140 1.0 45.0(40 20 6y V= ¢2 -980 3.0 43.0

4 48 24DV=  #A -670 0.0 46.0|45 15 24 O+1 46 -140 1.0 450(27 33 6y V+1 a7 -1010 0.0 46.0
61 « EKKn1064 62 « EKn87 63 a7
Nord v D87 Ost v K82 Syd v Kn954
Alla +3 Ingen *74 NS + K984

#EKn4 #K1076 #E954
43 4 D87 « D62 443 4 Kn1054 4D92
vKKn109543 v2 vD76 v Kn1043 vKD7 vE10632
¢ D875 ¢ K62 ¢ 865 ¢ Kn93 ¢+E ¢ DKn2
*9 #KD10873 #DKn85 #E932 #K8732 #D10

# 952 « K1095 » EK863

vE6 vE95 v8

¢ EKn1094 ¢ EKD102 ¢ 107653

#652 &4 #Kn6

Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
24 38 44 N+1  #K 650 46.0 0.0|41 21 4NN+3  #3 520 46.0 00|14 3 4v0-2 oA 100 45.0 1.0

4 11 44 N= v2 620 400 6.0 6 9 54 N+1 &3 480 36.0 10.0(24 40 4v O-2 &K 100 450 10

6 9 4e N= v2 620 400 6.0|10 5 54S+1 #Q 480 36.0 10.0| 5 12 4v O-1 oA 50 36.0 10.0
29 33 44 N= v2 620 400 6.0|13 2 44 N+2 vJ 480 36.0 10.0|11 6 4v0O-1 LY 50 36.0 10.0
44 18 44 N= v2 620 400 6.0(14 1 54 N+1 v4 480 36.0 10.0|26 38 4v O-1 & A 50 36.0 10.0
46 16 44 N= &K 620 40.0 6.0(15 47 44 N+2 «4 480 36.0 10.0|28 36 4v O-1 oA 50 36.0 10.0
17 45 3NN= *K 600 340 12.0|17 45 44 N+2 v2 480 36.0 10.0|37 27 3NO-1 a7 50 36.0 10.0
14 1 4v V-3 *3 300 320 14.0(19 43 44 N+2 46 480 36.0 10.0(42 22 3NO-1 +5 50 36.0 10.0
19 43 34 N+1 &K 170 30.0 16.0|42 20 44 S+2  #Q 480 36.0 10.0|48 10 3+ V-1 a7 50 36.0 10.0
25 37 34 N= v2 140 26.0 20.0|48 8 44 N+2 v3 480 36.0 10.0|43 21 3¢ S-1 vK -100 28.0 18.0
27 35 34 N= +K 140 26.0 20.0|123 39 3NN+2 v4 460 26.0 20.0| 7 32 2¢v V= & A -110 26.0 20.0
48 8 34 N= v2 140 26.0 20.0| 3 12 54 N= vJ 450 140 320| 8 9 3vV= a7 -140 21.0 25.0

3 12 34 N-1 v2 -100 12.0 34.0| 4 11 54 N= vJ 450 14.0 32.0|18 46 3v O = s A -140 21.0 25.0

7 31 44 N-1 v2 -100 12.0 34.0|22 40 44 N+1 &2 450 140 32.0(25 39 2v O+1 &A -140 21.0 25.0
10 5 44 N-1 v2 -100 12.0 34.0|24 38 44 N+1 v4 450 140 32.0|33 31 2v O+1 &A -140 21.0 25.0
13 2 44 N-1 v2 -100 12.0 34.0|25 37 54 N= v3 450 14.0 32.0|30 34 2NV +1 a7 -150 16.0 30.0
22 40 44 N-1 &2 -100 12.0 34.0|27 35 44 N+1 vJ 450 140 32.0| 4 13 INV+3 &7 -180 14.0 32.0
23 39 44 N-1 v2 -100 12.0 34.0|28 34 44 N+1 3 450 140 32016 1 3¢DS-1 2 -200 11.0 35.0
28 34 44 N-1 &K -100 12.0 34.0|29 33 44 N+1 vJ 450 14.0 32.0|47 17 3¢ S-2 ¢A -200 11.0 35.0
30 32 44 N-1 +K -100 12.0 34.0|30 32 54 S= *Q 450 140 32.0|23 41 3NO+1 &A -430 8.0 38.0
36 26 44 N-1 v2 -100 12.0 34.0|36 26 54 N= vJ 450 140 32.0|29 35 3vyDO+1 &A -630 6.0 40.0
41 21 44 N-1 v2 -100 12.0 34.0|44 18 44 N+1 v4 450 14.0 32.0|15 2 5¢DN-3 #6 -800 2.0 44.0
42 20 44 N-1 v2 -100 12.0 34.0| 7 31 64 N-1 vJ -50 10 450(20 44 5¢DS-3 ©vA -800 2.0 44.0
15 47 44 N-2 &K -200 0.0 46.0|46 16 64 N-1 *A -50 10 45045 19 2NDN-3 #Q -800 2.0 44.0
64 « D83 65 « DKn10954 66 & EKKn6
Vast vK5 Nord vD5 Ost vD8
ov + K874 Ingen ¢ 1054 NS + K964

#K654 £96 »742
4 Kn9752 4 EK10 4 K876 432 +105 4983
vE1086 vDKn32 vEK v 98742 vK102 vKn75
+10 ¢ D92 ¢ DKn3 ¢ E862 ¢1052 ¢ED
#E98 #Kn103 #K842 #D3 #E8653 #KDKn109

464 oE « D742

v 974 v Knl1063 v E9643

¢ EKNn653 ¢ K97 ¢ Kn873

«D72 #EKn1075 *-

Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
16 1 4v V-1 7 100 46.0 0.0| 9 10 5¢DO-4 oA 800 46.0 0031 35 44 N+1 #K 650 46.0 0.0
23 41 INO= +3 90 440 2.0(27 39 24aDN=v2 470 440 20|17 2 44 N= +K 620 43.0 3.0

7 32 3¢DN-1 vQ -100 42.0 4.0|32 34 3vDO-2 oA 300 420 40|26 40 44 S= *A 620 43.0 3.0
18 46 2v V= &5 -110 39.0 7.0|26 40 24 S= vA 110 39.0 70| 6 13 54D O-2 4 300 40.0 6.0
29 35 2v V= &5 -110 39.0 7.0|38 28 24 S= ¢ Q 110 39.0 7.0(29 37 24 S+2 45 170 36.0 10.0
14 3 2vV+l *3 -140 30.0 16.0| 7 33 2NDV-1 «Q 100 340 12.0(32 34 34 S+1 #A 170 36.0 10.0
20 44 2v V+1 +5 -140 30.0 16.0|17 2 2NDV-1 +vQ 100 340 12038 28 34 N+1 &K 170 36.0 10.0
25 39 3vO= *2 -140 30.0 16.0|29 37 3NV-2 «Q 100 340 120 9 10 34 N= +K 140 31.0 150
26 38 34 V= o7 -140 30.0 16.0| 8 11 3vO-1 s A 50 25.0 21.0|30 36 34 S= *2 140 31.0 15.0
37 27 34 V= *4 -140 30.0 16.0|12 48 3NO-1 &5 50 25.0 21.0|24 42 2v S= oT 110 28.0 18.0
45 19 1a V+2 o7 -140 30.0 16.0|15 4 3v V-1 «Q 50 25.0 21.0| 5 14 54 0O-2 a4 100 25.0 21.0
47 17 2v V+1 &5 -140 30.0 16.0|16 3 3v V-1 «Q 50 25.0 21.0|21 45 54DO-1 vA 100 25.0 21.0

4 13 3v V+1 *7 -170 15.0 31.0|30 36 3v O-1 & A 50 25.0 21.0|12 48 5# 0O -1 vA 50 20.0 26.0
11 6 3v O+1 46 -170  15.0 31.0|43 23 3v V-1 «Q 50 25.0 21.0|19 47 440-1 a2 50 20.0 26.0
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